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1. MRG T 31T G hIvedT I ST 7

(a) Tt (b) TERTY

(c) doa (@) fenre wew

a3

(1) (@) B (2) () () () (@) b)) (@) () FH
In which state/s Indian Institute of Advanced studies is/are located ?

(a) Delhi (b) Maharashtra

(c) Punjab (d) Himachal Pradesh

"Answer options :
- () (a) only (2). (b) and (o) (3) (@ (b)and () (4} (d)only

2. yll/STHA QYR SHRHETd FHIoTEl Tqet aied ?
() WEIE T SHARRI UgH I=EeT Sl

(b) FeorAT TR YU
(c) HI® THH RN qgie

(d) IR IR
Tt S faum/faur seT TR/ 3nmea ? L
(1) Fae () T MR (2 FEw (d) W IR -

(3) (), (b) A (c) SR TR (4) o ud SR A
Which are the provisions in the Land Reform Programme ?

(a) Eradication of Mediator and Land Owner Method.

(b) Refrom regarding tenant rights.

(c} Ceiling on Land Holdings

(d) Re- Orgam"zation of Agriculture

Which of the statement/s given above is/are correct ?

(1) Only (c) is correct (2) Only (d} is correct
(3} (a), (b) and (c) are correct (4) All above are correct
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3. dfny A4 Hiouws SeuEen Hevide R faum/faun ww R/ 3R ?
(a) DrmHEN Y o A
(b) FHTg TiORRE o e,
(c) TR-YEUHE SF HH0 AGAT T § WfFeme wuH @,
(d) W FE AR S ST IR,
R
(1) +a& (a) AU TR TR,
2) (a) o0f (b) foum SR aAea.
3) (a), (b) 37 (c) faum =R A
(4) o Td fqum Sl 31,
Which statement/s of Thomas Robert Malthus about population is/are correct ?
(a) Population increases by Geometric Progression.
(b) Food and grains increase by Arithmetic progression.
(¢) There is sexual attraction between Men and Women and it will exist forever.
(d) Food is necessary for existence of human society.
Answer options :
(1) Only (a) statement is correct.
(2) (a) and (b) statements are correct.

(3) (a), (b) and (c) statements are correct.
(4) All above statements are correct.

4. s IAE o T viERedaia o ve=a1 e quEy 26 ?

@) iyt (b)  oFrwufmior wre
(c) Eemgeawer /A faen (d) =mEEIE

AT I

1) (@) 37 () 2) (@) 30 (d)

(@) (a) () - @) oW
Which type of education is included under All India Council for Technical Education ?
{a) Engineering {b) Pharmacy

() Architecture {d) Management
Answer options :

(1) (a) and (©) (2) (a) and (d)

(3) (a) and (b) {4) All above
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5. UK 9o 970 2012 S W@ AR HIURT 3= ?
' (a) SiOFENH T P
(b) wTwATE ST e
(c) TR IS I aTds a8 Hefau
(d) @ ygwTR Frfan gaa
Tt I
(1) () 3701 (b) faum SR a7mea.
(2)  (b), (c) 3ftr (d) faum =R o7
(3} s (d) faum sUer e,
(@) 90w gd faym s TR
Which are the main objectives of National Water Policy 2012 ?
(a) Water Planning and Management.

(b) To increase utility of water.
(¢} To solve water disputes between two states.

St

(d} To control water pollution.

Answer options :

(1) (a) and (b) statements are correct.

(2} (b), (c) and (d) statements are correct.
(3) Only (d) statement is correct.

(4) All above statements are correct.

GOS8

6. HIF T TuM 21 97 B 76 Toetst Hiom 57 W wiftd St TR ?
(1) e fees
(2) a9 A
(3) <ifas wfee T
(4) 3n e
The United Nation Organization has declared 215 June as :
(1) World Earth Day (Vasundhara Day)
(2) International Yoga Day .
(3) World Womens Day
(4) Handicap Day
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7.

6 A

Toeromen FRuTde STEM o Wi Tr=1 9d A= S SosdT

T ToITaT o
(a) Toemds e M () 1964
(b) U A IR (i) 1952 - 53
(c) IS TR (i) 2005
(d) AR T (iv) 1953
GBI R ST SRS 3718 7
@@ ® ( (@
1 ) @ @ @
2 @ (v @ @
(3 ) @ @ i
@ (v @) @O @
Match the pairs of education commissions and their establishment year :
Commission Establishment Year
(a) University Grants Commission (i) 1964
(b} Nattonal Knowledge Comrmission (iy 1952 - 53
(c) Kothari Commission (i) 2005
(d) Mudliyar Commission {iv) 1953

Which pairs is correct of the following ?

@ (b)) () {d)

1) Gv) @ @) @
(2 @ Gv) (@) ()
(3) v} () @ (@)
4) Gv) () @ @)
8. ARAMES HHE HH1EA [9h/ FAAETE] TH9T S a9 e 2
1) 1961 (2) 1974 (3) 1985 (4) 2010
In which year Ministry of Human Resource Development was established in India ?
(1) 1961 (2) 1974 (3) 1985 (4) 2010
9. Yod TAYE Hed UAEE! Ui g gees 9 gfe aftug (NCERT) < e s

AN Lo R ?

(1) 1995 2 1956 (3) 1991 @) 1961

In which year National Council for Education Research and Training (NCERT) was
established for helping school education ?

(1) 1995 ) 1956 (3) 1991 (4) 1961
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10. ﬁ?ﬂq&ma{ﬁawmﬁ?ﬁﬁmmqﬁ%ﬁmﬁmﬁmmmﬂm

RO, _

(2) = AsFrld (b) g ST
Tt 3= :

() % (a) (2) F (b)

(3) * (a) 30 (b) (4) (a) T (b) TRIG AR

When an individual does work which is inferior to one of his capacity and level of
qualification, such employment is called :

(a) Under employment (b) Disguised employment
Answer options : _

(1) Only (a) (2) Only (b)

(3) (a)and (b) (4) None of (a) and (b)

11. 3T favas fekte Hared el VA sfead Afehe hif-god Hd HIvd ?
() dTHE Fogo GeigETen Se SO,
(b) iaeoTEE Sy wERE e yA S,
(c) TuwEa Rrew En o GUReIErE! T9es Tar S,
(d) TN AREETEE THER WA FOAE Wiohre oI,

oot I :

(1) W (a) (2) (a) 3 ()

@) wH (b) 4 (a), (o) 30 (@)

What is/are the functions Indian Medical Council (IMC) the apex body in the field of
Health ?

(a) To promote Research in Medical Education.

(b) To decide amount of grant to be given by the Central Government for Training.
(c)  To frame guidelines to improve quality of Medical Education.

(d) To encourage Research on problems of Health Sector in India.

Answer options :

(1) Only () (2) (a)and (0

(3 Only (b) @) (@) @ and (d)
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12, YTEERS TR e FRUAEIE HE AR ST ST 1977 Wl U Q! A0t
Bt ?
(1) T 14 (2) 3TN Hedl
() wHEWd TRH - (4) TEAE TES
The Union Government appointed a committee in 1977 for evaluation of Panchayat Ra]
System. Who was Chairman of that committee ?

(1) SK Rao (2) Ashok Mehta
(3) Vasantrao Naik (4) Vasantdada Patil

13. TATT 307 e o9 SRk (DBT) 91 §H AT SIS MR T (MGNREGA) disiaEre
fordl ey =TIoRS 37Ted ?
(1) 180 =g (2) 209 f9e’ (3) 287 foee 4) 310 faeg

After linking MGNREGA and Direct Benefit Transfer what is the coverage of the scheme
in terms of Districts where in MGNREGA is operational.

(1) 180 Districts (2} 209 Districts (3) 287 Districts (4) 310 Districts

14, TATTH B HHE T WA Ao I AN TE ?
(1) 2019 wdd wEeRH Faseen 3 M fara Her TES,
(2) SAYTIER (FHEITaS TEFTeR) WX 38O,
(3) WETE gfam HEA e e
(4) St faema, wmifses PRt & Aoyl o7 s,
Which of the following statements is not a salient feature of Sansad Adarsh Gram
Yojana ?
(1} Three Grams chosen by MPs will be developed by 2019.
(2) Focus is on Jan Bhagidar (Community Participation).
(3} Itis infrastructure centered scheme.
(4) Key aspect is personal development and social socurity.

15. Tty arHtor AsPTR gt sifufaam (om 2005) siavid fordt eaeh qear= s umdamd st
F wfest ?
1) 30 =%k (2) 33 TFh (3) 35T 4) 50 =%

What is the percentage of work in terms of cost under the National Rural Employment
Guarantee Act, 2005 is to be executed by Gram Panchayat ?

(1) 30% 2) 33% (3) 35% (4) 50%
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16. SOFRIGRIGE TN Tl viel, o 9 oo st ey SHuen AN S ?
(1) Tefefem ) oo oo
(3)  HcrEifa (4) UsH

After Electrophoresis test in which disease the white, yellow and red card is distributed
to the patient ?

(1) Haemo;;hilia (2) Sickle cell
(3) Thalassaemia (4) AIDS

17. DHEET €O YSFA MUVIH FHIVY TH HRONT STard ?
(a) AR
(b) W
() fawamy
d) B
Wf'd'\‘?ﬂ’t:
) HAD (a) WEH TR .
) (b) S (c) FeF T e,
) (@), (b) S (c) T IR SR
) o we Hew SRR 3R,

Which factors are responsible for change in population ?
(a) Fertility -
(b) Mortality

(c} Displacement

(d) Migration

(1
2
(3
(4

Answer options :

(1) Only (a) factor is correct.

(2) (b) and (c) factors are correct.

(3) (a), (b) and (c) factors are correct.

(4) All above factors are correct.
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18. U Ieaad foen Afvmmman (F41) T T RIvEL/ HI0R 3R/ ?
(a) <= Toaw Feemi= g Quwel.
by =9 Vel deui gewea F.
(c) S aEsHA S q{gmHEd QURT F.
(d) Sexftrr Heeran faear 3= freror=h Yfaw Fuoen geum T,

it 3 ;
(1) (a), (b) 30 (c) 2) (a) (o) W (d)
(3) (b), () 3w (d) 4) o wd (a), (b), (c) A (d)

Which is/are the main objective/s of Rashtriya Uchchatar Shiksha Abhiyan {(RUSA) ?
(a} To improve status of Higher Education Institutions.

(b) To evaluate Higher Education Institutions.

{c) To improve curriculum and examination.

(d) To extend Higher Educational Institutions to areas lacking them.

Answer options :

(1) (), (b) and () @ (@) () and ()

@) (), () and (d) (4 Al (@), (), () and (d)

19. A HHEA [9HE G0 FHES RO GurHEThT Fmed 2
(a) T Foram avifer weRa faum
() 5= Tagro fasm
(c) g favm
(d) ImERTI fasm
i @
1} (a) $H (2 (a) A (b)
3) (a), (b) 31 (d) (4) wl®wd

Through which department work of Human Resource Development Ministry is
operated ?

(a) School Education and Literacy Department

(b) Higher Education Department

{(c) Health Department

(d) Administrative Department

Answer options :

(1) (a) only @ () and (b)
(3) (a), (b) and (d) (4) Allabove
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20. 2015 =1 U fqeh FReie STRAHER Y™ 9Hd fahEd 188 <A HIUd W 3R ?
(1) 1309 ¥ (2) 1329 @R
(3) 1333 WM (4) 1349 =M
According to 2015 report of Human Development Index what is the position of India in
human development among the 188 countries ?
(1) 130t position (2) 132™ position
osltion ' 4™ position
3)  133% posi 4y 13athp

21, EHT SRS AR $7 TR FE R A Do GE Fo o ?
(a) HANYN SHYR DA
(b) AT A A
(c) vawue Sied st fam Qe

(d) o=@ T=H A

FHBUH! FIVEN T TN TR/ 3T ?

(1) 9= (c) 2 F= (d)
(3) (a), (b) 3T (d) (4) =l wd

Which Pension Scheme is introduced by Central Government for working people in
Unorganized Sector ?

(a) Pantpradhan Jandhan Yojana

(b} Pantpradhan Suraksha Yojana

(c) Pantpradhan Jeevan Jyoti Vima Yojana

(d) Atal Pension Yojana .

Which of the Yojana given above is/are correct ?

(1) Only (c) {2) Only (d)

(3) (a), (b) and (d) (4) All of the above

22. 100% HEIET [EHT TUFHEA T10 TS A5Hl FH GE a0 ?

(1) 25 #m= 2001 2y 25 fedaw 2000

(3) 25 fedsr 2014 (4) 26 SMART 2015

When was the Central Government Sponsored Pradhan Mantri Gram Sadak Yojana
started ?

(1) 25t August 2001 (2) 25 December 2000

(3) 25th December 2014 (4) 26M January 2015
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e PrariE) Hon faur g o ?
(a) YOG TSR HaYeH TaEaas STaee §& Sl

(b) A HEER HEYeH YRS oqaed] & .

(c) Waﬁumﬁﬁmmaa@naahuma‘aw.

it I

1) () 2 ®) 3y © (4) =RIwNE HUmE e
Which of the following statemnents is correct ?

(a) Rajasthan was the first state to introduce Panchayat Raj Systemn in India.

{p) Maharashtra was the first to introduce Panchayat Raj System in India.

(c) Andhra Pradesh was the first state in India to introduce Panchayat Raj System.

Answer options :
1) (a) (2) (b (3) (o (4) None of the above

24.

Tetg it SHeerEl SARFY AHdd SV H1E uRe™ o1y fieed ?
(a) Tradd anftr iR fvan vfye ur
(b) ST Gl HTE YHH

(c) YUl FTE 9NF

(d) el foren ufyem unw

it I

1) =% (a) @ (a) 3T (b)

(3) (a), (c) *nfn (d) 4)  (a), (b) M (o)

Which card holders are entitled to benefit under Rajiv Gandhi Jeevandai Arogya
Yojana ?

(a) Yellow and Orange Ration Card Holder

(b) Anthyoday Yojana Card Holder

{c) Annapurna Card Holder

{d) White Ration Card Holder

Answer options : :

(1) Only (a) (2) (a)and (5)
@) (a) () and (d) 4) (a), (b) and (o)
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25. 2W2015a@am‘ﬁm,ﬁm@'mmm?

(a) S NS ORI B,

(b) ToeromER YT waw SO

(c) T durEvier Wiy arom.

(d) e S afor o) S e .

qgidt 39T ;
(1) %9 (a) (2) F9B (0)
(3) (), (b) 3 () (4 o

Which is the objective of ‘Beti Bachao, Beti Padhao” Programme introduced on
22M January, 2015 ?

(a) To celebrate birth of girl child.

(b) To empower girls through education.

{c) To prevent sex determination.

(d) To protect birth and life of girl child.

Answer options :

(1) Only (@) (2) Only (9
(3) (a), (b) and (c) 4) Allabove

26. WEBUH! Dl fsFvit e 1fee s i el 98 9o ?
(1) fafsm (2) T () W (@4 ¥=
Where did World's first ‘Birth Control Clinic” open ?

(1) Beijing (2) Djakarta (3) Mysore 4) Kerala
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27. s S " w7 7
| (a) 9 YHATER FH 7 e,
(b) e SR FTH  fes.
(c) T YA FHTH A FvArE! =L,
(d) 3L FHTH T
Theds! Hivm fum/ faam gwa 3R/ 9T ?
(1) a3 (a) faue goR R,
(2) (o) =ftr (d) foremy gwie aTea.
@) ®), () 0 (d) faemy gHR e,
(4) Fae (d) fagm gHR aw.
What is meant by involuntary unemployment ?
(a) Lack of work as per eligibility and capacity.
(b) Lack of work as per current dailywages.
(c) Lack of interest in work though available.
(d) Inadequate work.
Which of the statement/s given above is/are incorrect ?
(1) Only (a) statement is incorrect.
(2) (¢) and (d) statements are incorrect.

(3) (b), (c) and (d) statements are incorrect.

{4) Only (d) statement is incorrect.
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28, WO STHi=A WA TRIJUR Sl el

(@)
()
(©)
(d)

g amu=Ea AfutEe
R foreel Uiwg o darEd | stfufmm

73 Sl HEAgeEt
IS A5 AR

it 39y

1)
(2)
)
4)

Match the following items and their sanction year :

(@)
(b)
©)
(d)

@ ® © @
@ @ @ O
O @ @ @
@ 0 @ @
O @ @ @

Mumbai Gram Panchayat Act

()

Maharashtra Zilha Parishad and Panchayat Samiti Act (i)

734 Constitutional Amendment

Vasantrao Naik Committee

Answer options :

(1)
(2)
)
(4)

@ © © @
@ @ ) 6
O @ @
@ 6 ) @
O @ @ @

(i)
(i)

1960

1958

1961

1993

1960

1958

1961

1993

GOs8

FoHT FHTHEEST ST /SPACE FOR ROUGH WORK

P.T.O.




GOS8

29,

16

AT ST WA RVR FE HA ?
(a) <IITRI STRTATAT faFEe J&t .

(b)) el siqsta Tde TR R Hgd .

(c) TS TEHl § ER: SIom Iee faswsta .
(d) GEE g i for SfmyTen WEIE "ed .

ﬂ'ﬂf?ﬁ'a?l:{‘:
(1) 9 (a) (2) (a) 3 (b)
(3)  (b), (c) 3o (d) (4) =l T

Which are the functions of World Health Organization ?

(a) Growth in development of World health.

(b) To Develop International Standards in Medicines Manufacturing.

(c) To Develop Diagnostic Methods and Material.

(d) To Help Member Countries through funding and supply of medicines.
Answer options :

(1) Only () () (a)and (b)

(3) (b), (c) and (d) (4) All above

30.

T v FeATarEt HIvrd ST S92 7Ed id ?

(a) JMEF (UNICEF) - HYgE U AU died e f

(b) T&e1 (SIDA) - Wi saweg fas gen

(c) TIHe1 (DANIDA) - W sviawusia fase g

(d) TS (NORAD) - HAtaSiEE o e

e I

(1) 9% (a) (2) (a) = (b) (3) (@), (b) () (4) FH ()
Which International Organization helps mainly for eradication of Blindness ?

(a) UNICEF - United Nations International Children Emergency Fund
(b) SIDA - Swedish International Development Agency.

(c) DANIDA - Danish International Development Agency.

(dy NORAD - Norwegian Agency for Development.

Answer options :

(1)  Only (a) (2)  (a) and (b) (3) (@) (b)and(d) (4) Only (c)
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31. Favierddr TR0 ISR A= Td hasna- ST TSARE 3w Tl Torond 3 ?

(1) 50% a7 50% (2) 20% 3TfoT 80%

(3) 75% 301 25% (4) 25% 01 75%

What is the share of the Central and State Governunent respectively in expenditure on
Swarna Jayanti Shahari Rozgar Yojana ?

(1) 50% and 50% (2) 20% and 80%

(3) 75% and 25% 4) 25% and 75%

32, WASIH B TEIEEES HE 3ME 2
(a) SR T B,
(b)  STEHRE T Y0 01,

(c) el o STTETI H,

Tt 39 ;
(1) < (a) S0 (b) 2) B (a)
(3) T (a) 3 () (4) 0o wd

Wi\ich of the following is/are the function/s of Gram Panchayat ?
(a) Health Protection

(b) Self - defence and Village Protection

(c) Protection of Farm and Forest

Answer options :

(1) Both(@and(b) ) Only ()

(3) Both (a) and (c) (4) All above
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33. YRAY SHUE YU SV GHS TEd SUAM AS 3R ?
(a) Fga A it Tdhg Tftor AR fHeA
(b) TS THeam, JRAE fam
(c) SEeE e anfin sy Qe
(d) S Faer, Hied savs Wi AR @ 14
FABUH! FIR HTh TR 372/ 37T ?
(1) F9 (a) T qU 3,
2) (a) 3 (b) HeF FAS A,
3)  (0), (c) M0 (d) HeH I ST,
(4) oo Wd gew T TR,

Which factors are given importance in Indian Population Policy ?

(a) Family planning and NRHM.

(b) Family Welfare, health insurance.

(c) Population Education and AYUSH services.

(d}) Sex Education, Free Comprehensive Primary Health Care Services.
Which of the factors given above is/are correct ?

(1) Only (a) factor is correct.

(2) (a) and (b) factors are correct.

(3) (b), (c) and (d) factors are correct.

(4) All above factors are correct.

34. e faumitet Svr are one ? |
(a) <=3 Torgwr fawm afor wel Saem fawe HJ3rea A faen agE fam fasE snftn

TG AT TYTOT e,
(b) T Toreqm Fgier onfer weneH wen € 3= fgumEiEt e <.
TiEr I
(1) 9 (a) (2) e (b)
(3) T (a) 3 (b) (4) (a) 3 (b) YT PIOE A=

Which of the following statements is/are correct ?

(a) National Institute of Education Planning and Administration was established by
Higher Education Department and Ministry of Human Resource Development

(b) National Institute of Education Planning and Administration provides grant for
Higher Education.

Answer options :
(1) Only (@) . (2)  Only (b)
(3) Both (a) and (b) (4) None of (a) and (b)

FHEAT HHTHTE IO /SPACE FOR ROUGH WORK
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NS HABETIHERE Fx T ITEHENG IO YEITINE 3TRd ?

(@)
(®)
(©)
(d)

FE T TEEE, T WrEs6 ARTE FErTemes], o,

FOGAHT IO T R/ T R/ ITRA ?

(1)
(2)
3)
4)

HEES (a) TAE I AR,
(c) 3nfn (d) vt e emda,
Fees (d) Tara Al AR,
Tie vd yafa gHe oTRa.

Which are the Laboratories Under Central Government for identification of food
adulteration ?

(@)
(b)
)

*(d)

Central Food Laboratory, Mysore.

Central Food Laboratory, Gaziyabad.

Central Food Laboratory Functioning at State Public Health Laboratory, Pune.
Central Food Laboratory, Nagpur.

Which of the option given above is/are incorrect ?

1)
(2)
)
)

Only (a) option is incorrect.

{c) and (d) options are incorrect.
Only (d) option is incorrect.

All above options are incorrect.

36.

1994 wel A ?

(1)
(2)
)
(4)

FHiae RdE 9 fremr wileg (AICTE)

T qeaish M F9oH IREg (NAAC)
ey e geym F wfgor afisg (NCERT)
T F=aat faen #AfeEE (RUSA)

Which Council was established by University Grants Commission for assessment of Higher
Education Institutions in the country in 1994.

(1)
2
3)
(4)

All India Council for Technical Education (AICTE)

National Assessment and Accreditation Council (NAAC)
National Council of Educational Research and Training (NCERT)
Rashtriya Uchchatar Shiksha Abhiyan (RUSA)

oAl HAMRIE 9T /SPACE FOR ROUGH WORK

B e ST SRV

P.T.O.

B S P



GOS8 20

37. WHE HOud FrREET g S sned ?
(a) drg TERIS g TEde USR] faE S
(b) SIS HIHBE! ART TR HL0L,
) iT=Ide saves T{EEas qEgae Heu.
d) drT HEn aEEes WY S,
FoE! Ho fagr/ faur ste R/ 31 ?
(1) a2 (a) faum sU=R aTe.
2) (a) W (b) faum SR TR,
(3)  (b), (c) N0 (d) forem et oM.
(4) o 9d faur SR .

Which are the objectives of Human Resources Planning ?
(a) Selection of eligible candidate for particular post,
{b) To list out available Human Resources.

(c) Prediction of necessary Human Resources for future
(d) To identify proper number of Human Resources.
Which of the statement/s given above is/are correct ?

(1) Only (a) statement is correct.

(2) (a) and (b) statements are correct.

(3) (b), {c) and (d) statements are correct.

(4) All above statements are correct

38. YRATS H GURUE W@ 2g FI0R ?
(a) B IUEAT q1G HI.
(b) AEATA WIS G T STl
(c) 3ie wadtem Hfgwhionel a9ra T S,
(d) SRR i feadsy S,

it 347 :
(1) W (a) 3 (b) (2) e (b) M (c)
(3) HH () I (d) (4) W (a) AT (d)

In India which is the prime goal of land reforms ?

(a) To increase agricultural production.

(b) To provide social justice to farmer.

(c) Not to end centralization of economic empowerment.
(d) To preserve goodwill condition of land owners.

Answer options :

(1) Only (a) and (b) (2) Only (b) and ()
(3) Only (c) and (d) (4) Only (a) and (d)

oAl SHTHTE A /SPACE FOR ROUGH WORK
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39. 1986 =N UL Nfors dromenr RIERTHEOR TeRISE 1985 - 86 90 Uf§s &Ry fawnsy
Frore e g8 Fwan J10 2

(a) MTH (b) BN () ¥Fg@ER (d) ST
Ity I ¢
(1) (a) 3 () (2) (b) 3 () (3) (a) R (4) (d) B

As per recommendations of National Educational Policy 1986, In which district of
Maharashtra First Navoday Vidhyalaya was started in 1985 - 86 ?

(a) Nagpur {b) Buldhana (c) Nandurbar (d) Amarawati

Answer options :

(1) (a) and (d) (2} (b) and (c) (3) (@) only (4) (d)only

40: stfaftea SrdeEn wos 1 ?
() <UTSAT THIUATAET SE SIhGEAT 3o,
(b) U AR DFEEE W TS,
() “afifE eI SRS goad wH TE,
(d) SFHETERIE goqd Sfde faehm 7 foL

.W"ﬁa?ﬂ:
() (a) ' 2) (a) 3 (b)
3) (a). (b) 3 () (@) e wd

What is meant by Over Population ?

(a) More Population than National Resources.

(b) Burden of Population on Nutriion Capacity.

(c) Inadequate Natural Resources in relation to Population.

(d) Lack of Economic Development as compared to Population Growth.
Answer options :

(1) (a) only (2 (a) and (b)

(3 (a), (b) and (c) (4) Allabove

FHoAl HEEE 0 /SFACE FOR ROUGH WORK
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41, ‘fewfwm’ snftn ‘fewhergfom’ a1 91 w4 Syifad ?

(1) VI 19T (2) THfaE 9N

3) frevadie semar (4) TEmdT ywie

The terms *Dyslexia” and ‘Dyscalculia’ refer to :

(1) A physical handicap (2) A mental disorder

(3) A learning disability (4) A fobia among children
42, IR SHE /AU FE S P

(a) HEE! AN N YRESAHE FHASH

(b)  TifH GEron

(c) i STl AwTolt

(d) w2 o ggt

I I

(1) &R (d) faum s i) R

(2)  (a), (b) 3T (d) Fums SR R
(3)  (b), (c) I (d) faum ST 7R
@) a{e T fqur sPeR .

Unemployment is created in youngstars because :
(a) Inbalance in work demand and supply.

(b) Technical improvement.

{c) Demand of more salary.

(d) Defective Education System.

Answer options :

(1) Only (d) statement is correct.

(2) (a), (b) and (d) statements are correct.

(3) (b), (¢) and (d) statements are correct.

(4) All above statements are correct.

43.

IFTEde = HH BRI THER (HHS T Wew % gHA 3 sfear’ W gen
3.4 Y WUH W TEhel
(1) 1975 (2) 1985 (3) 1974 (4) 1990

In which vyear, for the first time did the ‘Committee on Status of Women in India’ throw '
flood of light on the decreasing proportion of women in population ?

1) 1975 ) 1985 (3) 1974 4) 1990

AT HMMEE! T /SPACE FOR ROUGH WORK
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44, T T HIUA FOHIER €61, T4 fafudess a vt @id demw stfeare S
waffue firaramrE e st atqe w7

(a) 335, 336 (b) 275 (1) {¢) 330, 332 (d) 224(1), 224(2)
it 39N
(1) %% (a) (2) HH (o) (3) T (b) AU (d) (4) W (d)

According to which article in constitution, seats are reserved for tribals to represent in
Parliament, State legislature and Local Self Govt. :

{a) 335, 336 (b) 275 (1) (c) 330, 332 (d) 224(1), 224(2)
Answer options :
(1) Only (a) (2) Only () (3) Only (b) and (d) (4) Only (d)

45. T G Gisee S]iid @i S faur/ faue shet o ?
(a) FIYfEa Il - SARsn Faniio Afgaa THET AR FFT A FEHAE W
ElEL
) mmwwmmmwwm
(c) Il Ueg & A4 FJogd YHIO HH HTL
(d) T fohal I A1 SET TEE Sed St o 3,
it S
(1) F9 (a) (2)  (a) A (b) 3) (a), (b) A () (4) Fewd

Which of the following statement/s are correct regarding Janani Suraksha Yojana ?

(a) To increase delivery percentage of schedule caste - schedule tribes women in
Government Health Centers.

{b) Toincrease delivery percentage of women below poverty line family in government
health centre.

{€) To decrease infant and mother mortality rate.

(d) To provide financial benefit if delivery had in a Government or Government
recognised centers. :

Answer options :

(1) Only (a) (2) (a) and (b) (3) (a),(b)and (c) (4) All above

HeAT HHEEIS AP /SPACE FOR ROUGH WORK
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46. TR (Hfewe fifE e PEEH) 1971 =0 FEea TdaRoRE gfge 20 SrSaSadd
T <A (miam) Fvast WaElt v el R, Weieas! S ifEda mium
T A 2
(a) T TR IR AT U T AU ST IRAT ST
(b) Vo TR RS S HST TS I e AT AT
(c) THFiE gy SteaTes MU el STHTA.

(d) FTOTHERES MR el S,

it 36T
(1) W (a) 3T (b) (2} (a), (p) (7 (@)
(3) FH (a) W (d) 4) (), (b), (c) sfor(d)

The MTP (Medical Termination of Pregnancy) Act, 1971 permits termination of pregnancy

upto 20 weeks. Under which conditions given below termination of pregnancy is

allowed ?

(a) Where there is substantial risk of the child being born with serious physical
abnormality.

(b) Where there is substantial risk of the child being born with serious mental
abnormalities.

(c) Pregnancy due to failure of contraceptive.

(d) Pregnancy as a result of rape.

Answer options :

(1) (a) and (b) only (2)  (a), (b) and (d)

(3) (a) and (d) only 4 (), () () and (d)

47. WIHBIFR! FHIUHT Hle WY Mg 9 fommrs devld’ ey FHrdses BUF SRR
& ?
(1) 12 AR 2010 4 A 2012
(2) 12 T2 2011 9 WL 2013
(3) 12 TR 2012 § SR 2014

(4) 12 TR 2014 F HE 2016

For youth development which of the following period was declared as ‘International
Tenure” by UN ?

(1) 12 August 2010 to August 2012

(2) 12 August 2011 to August 2013

(3) 12 August 2012 to August 2014

(4) 12 August 2014 to August 2016

oAl HEMEE JFT /SPACE FOR ROUGH WORK
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48, UifFEEATdS Mo safquaren & 7 ¢ 10 INHHE GO 3T9 HRFI 6 TH9S 914 2
(a) o A G
(b) « AHHURSE AT
(c) I ¥ie faurayen ga FH T A =ed
(d) =T 3 WG hived TG

TSl v fayH/faum ater o m/a?
(1) T (a) ST (b) (2) T (c) 3T (d)
(@) wE (b) () (4) T (b), (c) I (d)

Why are boys between the ages of 7 and 10 considered as ideal employees in the carpet
making industry in Pakistan ?

{a) They eat less

(b) They are obedient

(c) They can be paid much less than adult weavers

(d) They are highly dexterous

Which of the statement/s given above is/are correct ?

(1) Only () and (b) (2) Only () and (d)

(3) Only (b) and (c) (4) Only (b), (c) and (d)

49, TRTES Aeq (O Hras A Aday) SERT FE 81 Y@ HIFard U HUTREt 2006
T G9 H0AM A, HIUCAT T G HIQ], JRARS S2H (HeAdl Hiesatt v yfa=y)
FEATH FTSIAEU & A ?

1) 2004 (2) 2001 (3) 2002 @) 1999

The Juvenile Justice (Care and Protection of Children) Amendment Act, 2006 was passed
to amend the Principal Act. In which year.did the Act, Juvenile Justice (Care and Protection
of Children) came into force ?

(1) 2004 (2) 2001 (3) 2002 (4) 1999
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50.

26 A

To- AT Hoi=A WG SRSt & TH. . TUHsIe it Tasrt 9 Hider! SRR gafgoe
3R, g el e :

@ - e FITERTET & WA
(wfs feara gl )
(a) T (i) 15
(b) T (i) 4.0
(c) T U v (i) 1.0
(d) Tt ue v farfea (aigeRr aiy) (iv) 2.0
Tt 3

(@ () (g (d)
1) @ @ @) 0
@ () @ @ @)
() () @O @ (i)
@ O v @) (i

Dr. M.V. Radhakrishna Rao has suggested vegetarian and non-vegetarian diet for
pre-school children for their normal growth. Match proper foodstuffs with appropriate
czens. '

Foodstuff Vegetarian and Non-Vegetarian

(per day in ozns)

(a) Cereals {iy 1.5
(b) Pulses )y 4.0
(c) Green leafy vegetables (i) 1.0
(d} Non-Green leafy vegetables (Non-vegetarian etc.) {iv) 2.0

Answer options :

(@) (b) () (d)
1 @ @) @) @
@ W) @ @ @
(@) () @ @@ )
@ @ @) @ (@

HoAT HAEE AT /SPACE FOR ROUGH WORK
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51. ‘fufem gredt’ wvet %4 ?
(a) TermeaT videnT=AT STRIHTAYR o 9 Hifedt e e TR Hoe T e,
(b) S TE A HEA TATH o fT=R yore.
() &t A=l
gafdt I
(1) @ - (2) T (b)
(3) R (a) S (b) () wH(Q)
‘Media Society” refers to which of the following ?
(a) Inthe end of twentieth century a community developed by development of Technical
Knowledge and Scientific Knowledge.
(b) A thought process given by Bodari Lord a French philosopher.
{c) None of these
Answer options :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Only (o)
52. e WA FHIM LRSI (1985) Tafe feaeiw (1995).

e e HAW Feita e ?

(1) TomE oo

(2) TS

(3) SUSTIRI HH! FOAEH

(4) SltE TE

Nairobi forward working strategies 1985 : Beijing Declaration 1995 :
To which of the following the above term are related ?

(1) Women Empowerment

(2) Child development

(3) Reducing unemployment

(4) None of the above

HoAT HIHHEGS I /SPACE FOR ROUGH WORK
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. 53. 2002 HIP WA 86 At gLl 0T ST, o WISISUH! wivedt Hewia it ?

(1) SoH= aahie gfaay F,

(2) SRFIATT TFRI Y® o=l Govd gah=l & QUL

(3) Tasgur=a geRhe Y+ qor= TeYd gehidl Gl oot

(4) TAF e FcATEvIH SH Qe JUAHEIES] HAM SYAHRE SO T8 FL.
In 2002, the 86" amendment to the constitution was made. It stands for :

(1) Prohibition of child trafficking,.

2)  Right to health as a fundamental right of every child.

()
(3) Right to education as a fundamental right of every child.
4)

4) Provision of basic vaccination free and compulsory to every child.

54, WSE faum wwr= Hevia emed e ¢
faum: () o SRR YRAMIE GRPTEE SR 9 RS a6 W O
T
(if) RN HEA HLOFAT Al & T S WHaR 3EaEad 100% Fe fal
.
wed: () YW wiE faEm ww
(b) I H HEHT (TFE GG V¥ vaEEt)
(c) T gar fas =
(d) it THEl TR
it 9T
(1) e () 30T (b) (2) T (b) W (c)
3) W (a), (b) AW () (4) % (d)
Identify in what reference the following statement are :

Statements : (i)  This fund collect capital from private sector, Govt. sector and non-
Govt. sectors.

(ii) 100% exemption in Income tax is given to the people or institutions
who gives monetary assistance to this fund.

Assertion : (a) National Sports Development fund
(b) Sports Fund Programme (Best sportsman pension scheme)
{¢) National youth development fund
(d) None of these

Answer options :

(1) Only (a) and (b) (2) Only (b) and (0

(3) Only (), (b) and () (4) Only (d)

Foeedl HIATETS! 9T /SPACE FOR ROUGH WORK
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55. w@HY (Ffady sfn ) wERT 1986 IWE 2015 I R UG IS, @ 14 d 18
Y a1 T AT GHEY HO e AR, A e fearerel Wietedet s fey @
FTITER "GV STl 378 ?

1)

(2)
(3)
(4)

AT e IA A 15 S 72,

ARG FIVE FH FEA U H 4.

i AFHR TaeIE Tl fohan TR feen % 7, A wekite fraror fod s,
i FARSA &A@ HH K3 5 74,

The Child Labour (Prohibition and Regulation) Act, 1986 amended in 2015. In which a
new category of 14 to 18 years of age was included. Which of the following restriction
has been placed in favour of this category by this law ?

(1)
(2)
3)
4)

Not to be employed in hazardous industries.
Not to be employed at all.
Not to be given wages; but compulsory education if employed.

Not to be employed in entertainment industry.

56. TANRAAIE WeEl el 21(A) U WHAGUh! HIU TRIUTHS FLOE 5 ?

(@) SAFOE THW (b) THH. AT TR

(€) TR T (d) istEt T

At I

(1) W (a) (2) W (d)

(3) T (a) MW () 4) ()

Which of the following case resulted for the 6% amendment in act 21(A), in constitution of
India ?

(a) Unnikrishnan Case (b) M.C. Mehta Case

(c) Gopalswami Case (d) None of these

Answer options :

&)
)

Only (a) (2) Only (d)
Only (a) and (c) (4)  Only (c)
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57. HSYd SO IR qRAE S (S0 UIRR gietew T €, 1 e e

SO Y fe Tt
(a) 1901 @) 946
b) 1931 ) 945
(©) 1951 @) 935
(d) 1981 {iv) 972
Tty 3y

(@ (b) (0 (9
1 & @ @© @
2) O (v @ @
@ @ @ @O W)
@ G @) Gv) @

Following is the classification of sex ratio in India. Match appropriately with the census

year :

Census Year Sex Ratio
(a) 1901 iy 946
(b) 1931 i) 945
{c) 1951 (iif) 935
(d) 1981 {iv) 972

Answer options :

(@ (b) (o (9

1) ) @O @ (@)
2 @ @) @ @
G @ @ @ )
4 @ @) @) @

HeAT H/ATEES M /SPACE FOR ROUGH WORK
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58. IS UHNIGARAT ‘Fga’ o Helfamd femmme gfesiv o w00 ed. drd Siewl o ¢
T HIuT LLIENIEZE]
(a) Fgd TG Yoz i S FW
(b) Fdard TTH (i) IS A
() LA TG (i) TeHs fod
(d) WETTARN qoYd Tha (iv) SE. o
Tt S
@ () ( (@
1 W O @ @)
2 @ @ @ (@)
@) (@@ @) @ @
@ @ @ @) @
Following are some of the critical views on ‘Family” expressed by some of the eminent
sociologist. Match the following :
Views Sociologists
(a) A Runaway World (i) David Cooper
{b) The politics of the family (i) Karl Marx
(c) The death of the family (i) Edmund Leach
(d) The basic commodities of capitalism  (iv) R.D. Laing
Answer options :
@ & © @
O W 6 @ @
(2) @ @ @) (v)
@) @) vy @ @)
4 (@) [ Gv) @)
59, ayfeardt ot &M Hia-Hiare ey ol Fromme’ g T6 Hheuar v SHme ST ?

(1) 991 9EE (2) RETE HES
@) figaE age @) THymE v

The concept of ‘Kuranshala” where trible children can get education while doing their
work is attributed to :
(1) Medha Patkar (2) Tarabai Modak

(3) Gijubhai Badhela (4) Sindhutai Sapkal

THEAT HIWTHIS AT /SPACE FOR ROUGH WORK
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60. ' AT Higen {7’ GISSUH! BT = WIONY WS HoT S ?

(1)
2

G)
(4)

HAlGsa Hit - a6 Ieewyfd=n Ty
3.9, 1921 U WOHHT SRHd T SuAA O AT falua woed gusie
Ty

8 O 1908 st IS Tl AT hosedl Yqergsd hmfen wIony
8 T 1907 I TETE A WA AT Hieed TRETSN SUHTTER

“International Women’s Day” is celebrated in the commemorization of which event
mentioned below ?

(1)
(2)

(3)
(@)

In the commemorization of completion of a decade of International year for women.

In the commemorization of the rise of labour women against the injustice in France,
in 1921.

In the commemorization of the historical deed done by American Labour Women
on 8th March 1908.

In the commemorization of the resolution passed in ‘International conference for
women’ held at Stugarred on 8th March 1907.

61. HEGIAE FHH FOMHT I FaTE FLOTH WS WATHTN GRS HERIS S vy Hems]
T S ?

(a)
(b)
()
(d)

T HE
ufes! w8

fezarult Fa1

g F

ot Y

@)

FF (a) 2 @3B () FS () 4 (a) AW (c)

Which chamber was established by Maharashtra Government for convenience of office
working and travelling women for breast feeding ?

(a)
(b)
(©)
(d)

Breast feeding chamber
Ladies room

Hirkani kaksh

Umed kaksh

Answer options :

(1)

Only (a) (2)  (a) and (b) (3) Only () (4) (a) and (q)
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A 33 GOS8
62. IV AT AT TS GHRITS Toa 9 ' dew Hagarodasy™’ =1 fagid #isa ?
(1) S oy ) famis wigs
(3) HAUGH HA 4) <f=eaq
Which psychologist presented the theory of self-actualization based on the positive aspect
of human nature ?
(1} Carl Rogers (2) Sigmund Freud
(3) Abraham Maslow (4) David Hatt
63. TR TfeaTH! SHEt o1t Wi Sy st feeRn=n Stre o

anfeaTHT M " qresy 3oy feregr
(a) W () TTE/IM
(b) oM (@) TS
(c) EHU (iii) FgER
(@ wifem e (v) TEHID
it 3N
(@ (b) () (d)
(1) @) @ @) @
@ (v) (@) (@) (@)

() @) Gv) @ @)
(4) @) (v) () ()
Match the pairs of Districts of Maharashtra with their residential Tribes :

Name of Tribes Residential District
(a) Pawra (i) Raigad/Thane
(b) Kolam (i) Gadchiroli
(c) Katkari (i) Nandurbar
(d) Madiya Gond {iv) Yawatmal

Answer options :

@@ () () (d
Q) (@) (@ ) @
2 (v) @ @ @
@) (@) @) @ @
@ @) (v) @ @
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64, 1985 T WFIfas gan o WK FHA0areN G Ugien foiamer et v faly . S
Yefter gash-foaelt TRECHE Hivrd HRor Hfed e ?

(1) THRTE] (2) risFR (3) THNER (4) SSWER

There were some forces which opposed the UN decision to hold International youth year
in 1985. The anti-youth conference in Jamaica reflected the policy of :

(1) Imperialism (2) Capitalism (3) Socialism (4) Liberalism

65. 2014 = UL a1 Y0 UF oW ol it IUSh AIes i 0 Ao0EET WRarl
anfdes foepraren Feiam Arer 25 2 Y 9N FoaEE! SEeds! HIv TEHE B ?

(a) W9 Twe
(b) Term
() T9mm auftr siered fawm

(d) AT

it 39 ;

1) () 3 () B (2) (a) &K

(3) (b), (c) W% (d) F (4)  (a) 3T () w1

One of the objective of National Youth Policy (2014) is to create a productive workforce
that can make a sustainable contribution to India’s economic development. Which of the
following are the priority areas to achieve the set objective ?

(a) Sports

(b) Education

(c) Employment and skill development

(d) Entrepreneurship

Answer options :

(1) (b)and (c) only (2) (a)only

(3) (), () and (d) only (4) (@) and () only

THeeAl HAETS AFT /SPACE FOR ROUGH WORK
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66. THIH! FIUA S W fran Afvrrreh deifea A ?
(1) TANR 6-14 HHie TS Iebd SAT0T0
(2) it Sufeudt feanfad
(3) i HNRYE arefan
(4) e e o WomhE I FO
Which one of the following is not the objective of Sarva Shiksha Abhiyan ?
(1) To enroll the children of the age group 6-14 in schools

(2) To maintain their attendance
(3) To enhance their achievement
(4) To orient their teachers and parents
67. T4 faurdea=a fFHaagan ¥ 26 HAME, 1982 Tft firdten aa faamdie = udfax

(F.. 1969 7L T1Ya ones. € Wi stezat 3= fagm [favm ufee ga foardie sm. @
foamdiea ¥ T T ST ST

(a) foeR femmds (b) I YW formmmdia

() 3Ty fa=mits (d) qo foammds

() =l 93N IAleEHt (i) forEn W&

(i) TH. VUFIE (iv) H. T

Tt 3

1) (a) - () 2)  (b)-(iv) G @-0 (4) (d)- (i)

was established by an act of state legislature on August 26, 1982 on the line
of the British Open University (UK in 1969). This is the first open university established to
provide higher education for the adult learner. This University was renamed as

(a) Bihar University (b} Uttar Pradesh University

(¢} Andhra University (d) Pune University

(#)  Dr. B.R. Ambedkar () Vinoba Bhave

(iif) S. Radhakrishnan (iv) M. Gandhi

Answer options ;

1) (- @ @ ®-) 3) ©-@ @ (@- @

FHoeAT HIHTERE S /SPACE FOR ROUGH WORK
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68. wu T R HHMG: , 3t ® &% Haifes $1d o
YHSTS .
(a) -SEATH (b) WEME (¢ fom=m (d) T
T I
1) @ ®)«© 2 ®) (@ @) © @D @ (4) A
Higher education is generally understood to cover p and
(a_) Teac;i-ng (b} Research (c) Extension (d) Management

Answer options :

1) (@ ®) 2 (), ) (d) 3) © @) (4)  None of these

69. SIS = Sigeed dearaMlard e @ 3.
(1) HHSIYHR (2) =
(3) U fawm (1) aiE e
The underpinning philosophy of ODL is that education is
(1) Human right (2) Status
(3) National development (4) None of these
70. 9RA WIEAM 1993 AL Wi HiFEI= TG Fol M Sl S,

(1) Tomm sEemTETE fadhdmu=t FiE

(2) Tagur=T quve S

(3) Toerom=i €, U SR

(4) Toeome edar wHE

Government of India formed a Committee in 1993 known as
{1) Committee on Decentralised Management of Education
(2) Yashpal Committee on Education

(3) Dr. Radhakrishna Committee on Education

(4) Mudliar Committee on Education

71. U Hewa o=t s e e
(1) 1978 (2) 1998 (3) 1968 (4) 1988
National Literacy Mission launched in .
(1) 1978 (2) 1998 (3) 1968 (4) 1988
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72. Ve ASUGR e @ qe Hievt R fEar S sfuueEm S
(1) &% 1920 (2) FR 1945 (3) 3+ 1860 (4) T 1993
The school is run by registered under the Societies Registration or a public
trust Constituted Under any law for the time being in force.
(1)  Act 1920 (2) Act 1945 (3)  Act 1860 (4) Act 1993

73. THE, 1986 3 THca Taenoui RreRw TS HH.

(1) gm fernei fad frem

(2) T e g fereneatan faery Rraror

(3) T THIHAErE! e

(4) el e gUR faeneata fogw

Navodaya schools are recommended by NPE, 1986 to give
(1)  special education to differently able students

(2) special education for rural talented students

(3) education for national integration
(4) education for urban talented students

74. o o =S
(1) Y9 9 fom FiAamee qay
() EEIS We e v i We-wt JivHie Uikl
(3) SIEEHdT W HeE Al ey Ge qiqHie Ui
(4) wE® 1000 TEiHR f@ai 9@
Sex - ratio means :
(1) The relation between male and female
(2) The ratio between the number of adult male and adult female in a population

(3) The ratio between number of female and number of male in a population
{4) The number of females per 1000 males )

75. WOGUH! HIUE T TR 27 Aea S G JHed g 5 ?
(1) NWHAAAX (2) WA () TIAAHWMAL (@) FAEFEE

Which one of the following Institutions undertakes Long - range research projects of
National importance ?

(1) CSIR (2) NIT (3) AICTE @) 1T
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76. WU EECIDE I
(1) RfES (2) ORI (3) "gHe (4) SHE
Computer machine is the type of machine.
(1) electric (2} electronic (3) manual {4) operating
77. WHR AfFdl (1945) 7 GEASUR _ =i firmrE F.

(1) e gz S S = e

2) 3fed sfemye ATE wede < e

(3) TS 3RETE AE RSS! < T

(4) Sseiue T o <t W

Sarkar Comunittee (1945) recommended of the following.
(1) setting up of Indian Institute of Technology

(2) setting up of Indian Institute of Management

(3) setting up of National Institute of Technology

(4) setting up of Industrial Training Institute

78. Toefami=a TUERIEE SAER SSfal,
(a) Torerwi= fomneaisht sTaom Wy 7 SUURT Uhwat a7,
(b) TorerFiR 3TV TFF § SEEQRIS UG 3ES wiE,
(c) Sl fners wiarome &t fHafHa .
(d) e THTRST SEeRR TGRSR desvarnat faremh S7mar Seaga S o1,
qEiEt I
1} (a), (d) 2 © b (3) W =R @ (9 @
Climate building for Quality of teachers :
(a) Teachers relation with students is an ongoing process.
(b) Teachers should be aware of their rights and responsibilities.
(c) Regular session of inservice teacher training programme.
(d) Teachers are now emerging from an information society into responsive society.

Answer options :
1) @ (2)  (c) (b) (3)  All correct @ (9 @
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79. , afor THSEeT 3USH e aeiduare! gy faar suaw
[C LG

(1) dipfas FEdH

(2) A, IwHH

(3) v F3T FW (W) TEHiE sEHsr
(4) 9m faswm

, and Social Service Activities will promote a proper spirit of
discipline.

(1) Cultural activities
(2) 1.CT. activities
{3} National Cadet Corps, Junior Red Cross

(4) Yoga education

80. WENr faemdie m@e, 1994 7R < THI e,
(1) e fomrde
(2) P Y gt s
(3) Tt anfor da foramdis
(4) i ety GagE fermdts
Maharashtra University Act, 1994 covers
(1) Non-agricultural universities
(2) Agricultural and Non-agricultural universities
(3) Non-agricultural and technical universities

(4) Agricultural and Technical universities
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81. TN Ferforss €01 (1986) Hel® hiicds FIEHEd & GAfae 3R
(a) T o SRR Aftreaqy e SHE FEEA ST H0,
(by o frerERiETSt v ouiqT Toher @ o A .
(c) Toerriadl IgAYA T AT O,
(d) ud fashi Fday, qiEaE, FARCR (F9T) 98 9T SUerErdt Y e
it I
1) (@), (b), (c) FTT 3T (2) e (b) SR T
(3)  (d), (a) TR 3T (4) d TR AR
National Policy on education in its programme of action (1986) proposed :
(a) To organize specially designed orientation programme for all entrance lectures.
(v} To organized refresher courses for all the teachers at least ones in a five years.
(¢} To organize orientation programme for the teachers

{d) To encouraged teachers to participate in workshop, seminars, conferences etc.

Answer options :

(1) (a), (b), (c) are correct (2) Only (b} is correct
(3} (d), (@) are correct (4) Al are correct
82. o Weowd 9d seudEdi gHEt fhar Wiiet Sdiid Gei S iy
He yefyd 39 @ A YIEH F{vgre g9k oTR.
(1) 145 (2)  ®oH 30 (D) @)  FEH 29 (I (4) w112

enjoins that all minorities whether based on religion or language shall have
right to establish and administer educational institution of their choice.

(1} Article 45 {2)  Article 30 (I) (3)  Article 29 (1) (4) Article 112
83. 1885 Ht2 TSRS TSGR A 3 fagrondte st 98 .

1) e fon (2) 3 TES 0N

(3) ISR HiwA (4) e foreror g

in 1885 the political consciousness seems to precede the social and educational

consciousness.

(1) Muslim League (2) Indian National Congress

(3) Kothari Commission (4) New Education Policy
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84. wAfawE @ taifies e Wi faem wu=ren ffR yae g S8 1993 &
o gedid §6 oTA.eTAE, 9 TR TH.H, Tl &al.

(1) TS 2 fefm () TIREMAL (4 TWIMUA

In 1993 the started at all the IIT’s and IISC with the objective of a concerted
national effort towards the technology development with direct involvement and
participation of industries.

(1) NOS 2) TDM (3) AICTE (4) IIM

85. Sifge Mewm A wiffmowa Yesmdie S wats gigamel dafia e ?
(a) TafTafHaET
(b) 3faid wom
() TR
(d) =
(e) WMISHT (HHW HIIEH)
5
1) @-®) @ (©-@
@) Towd (4) TSYH THE AR
Which is not the components of Emotional Intelligent as stated by Daniel Goleman ?
(a) Self regulation
(b) Internal motivation
{¢) Self-awareness
(d) Empathy
(e) Social skill
Answer options :

1) @-0 @ (©-@
(3) Allof the above {4) None of the above

86. Temrri= =EEY faHERA Yau Wit Feaal T a9 Wi St gatas ?
1) Het At (2) T afid
(3) T i (4) = A
Who suggested one year training after recruitment of the teachers for their professional
development ?
(1) Mehrotra Committee (2) Rammurti Committee
(3) Yashpal Committee (4) None of these
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87. TEEMM HFEE M@t fametn s el amel R
(1) TEEHa et famef e Asam
(2) <eEEteTiER famdt T afer Iy ved Eh
(3) TREME faenal sTufer aE
(4) TEER @ HEar freadien ufge 7o o

Aptitude test can be best administered after 10t standard for career selection of students
because .

(1) Some students leave the school after 10*h standard

(2) Students cannot read the test properly before 10% standard

(3)  After completion of 10% standard students admit in 11*" standard

(4) Tenth standard is the first step of career selection

88. she fuarer T (1978) We wfda foard - |
(a) < wHIfS, STfdie fammm onfn sqat fashmam e stegen fmim &

(b) e, HE N A 2 T T W, THRHHIT TeHay Sieel W T 7 e
2.

(c) TERd, Hawg M %1 AR Wad e T & FIER e g9 399 hdm.
it 36

(1) Taum (a) s A& (2) UM (a), (c) SR TR

(3} Y[ (a), (b), (c) X 318 (4) w4 faum gFIs omda

Issues of Adult Policy Statement (1978) :

(a) Thatilliteracy is a serious impediment to an individuals growth and to the country’s
SOCIO-eCONOMIC Progress.

(b) Learning working and living are inseparable and each acquires a meaning only
when correlated with others.

(c) Illiterate and the poor can rise to their own liberalism through literacy, dialogue and
action.

Answer options :
(1) Statement (a) is correct (2) Statements (a), (¢) are correct

(3) Statements (a), (b), (c) are correct (4)  All statements are wrong
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89. FALEA AR a (AR 2002) ¥ EOS FHIG e

(a) SrEETHRal dafsder HA WTGH U= 3TN 0T sk AaT e,

(b) Tafay e M Foen FrE Tfa 3 wiiferds fadw swed TR e,

(c) SN ST @R e Wi THGHAN Toavqrad! & wewfa .

Tt 3T

1 @ «© ) ©. ¥ @) ®) @ (4) wd TR

Constructivism has the following principles (UNESCO, 2002).

(a) Learners build personal interpretation of the world based on experiences and
mteractions.

(b) Create novel and situation specific understanding by “assembling knowledge from
diverse sources.

{c) Knowledge is embedded in the context in which it is used.

Answer options :

10 (@) @© @ (. (b) (3) () (a) (4)  All correct
90, o qd Bl @R g A g e s e W9 a9l
d foes 9 faarai ues & e i,
(1) . - 1984 (2) TEIALA. - 1986
(3) T - 199 (4) TA.HEIANTE. - 1992

as early , took the initiative to package the knowledge in video
form and make it available to teacher and students.

(1) UGC - 1984 (2) SERT - 1986

(3) NCTE - 1996 (4) NIOS - 1992
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91.  EATITd ORI IYFT TSR FI0A TOTSIEE] el ol ?
(a) HIU & e oy
(b) HIOM T T8 HEd IR
(c) TOR ¥ WS WA I
(d) TR ¥ HEUMTE WMET T
Tt I
(1) (@), () () @) (D) () (a) 3 © @ 4 (d). @
Teachers approaches to using computers in their teaching :
{(a) the computer as a tutor
(b} the computer as a neutral tool
{c) the computer as a cognitive tool
(d) the computer as a attention tool

Answer options :

1)y (@ ®)© 2) (), (9, (a) 3) (9 @ 4) {d), @

92, . iy %, qrel et wyel Revreet €9 ged R .
(1) T foaror dror 9w, o0, 37 usdie spsmaseA
(2) USE 3WTGST 2009 37071 2012 =1 el ARG
(3) T farr oo - s gl 2002 - 2020
(4) U T A 0 AT feror ¥/
- and are the cardinal points towards total secular education.
(1) National Education Policy PAO and National Curriculum
{2) 2009 National framework and 2012 plan of action
(3) National Education Policy - India Vision 2002 - 2020
{4) National Knowledge Commission and Natienal Education Policy

93. EIR ERNGE LI _ W3 YRATS Wed 9 gy wa e
MY Hedi 1 THIAVERIa ¥R SO 37T,
(1) 89-1984 (2) 86 -1987 {3y 81-1999 (4) 87-1993
The Report on value education submitted to the Indian Parliament
has emphasised on inculcation of core Universal Value.
(1) 89 - 1984 {2) 86k - 1987 (3) 81t - 1999 (4) 87th . 1993
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94. UL BHTE A= FE 0 Hhall :
(a) WO TS 99 18 9 Yoid o 99 21 T qEfa.
(b) Te& FARH 1ol SIS TR T8,
(©) Toav caaedin SEHEA Tl g el <ol
it 39T ;
(1) ¥R 2) (@ OFTR @) () (a) TN

Important measures of National Population Policy :

(a) raising age of marriage to 18 years for girls and 21 years for boys.

(b) group incentives for adoption of family planning methods.
() introduction of population education in education system.
Answer options :

(1) Al correct (2) (@), (b) correct (3) (c), (a) correct

GO8

(b), () S

(b}, (¢) correct

95. IR ‘Y oIS W Gefird R ?
(a) Toremelt AR (SEAER) sEer e,
(b) fenel reagARTAE qAIE TR AE ST qRF S .
() Tamrel ofmR gu a& ofiiyH && T4

Whﬂ'aﬂ:{':
1) @ 2 ®)
@) (© (@) "o wd

Which is from ’Aitareya Aranyaka’ ?
(a) The student should sit on the ground.

(b) The student should not lean backward while learning nor lean forward.

() The student should not be covered with too much clothing.
Answer options :

1 () (2) (b)
@) (© (4) All of the above
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96. WGl fuETEr=n WEE SR (UDHR) fawdt qéietst Sion faum s e ?
(1) & SERAM 1948 Wiedt Hiftyd HIe.

(2) o SERATATE el YT qHew .

(3) & TEREME1 1948 Wi WY TSTHE= RN WHR Fa,

(4) SRS S0 3. 3 § 21 79 T o TS s IS SR,

Which one of the following statement about Universal Declaration of Human Rights
(UDHR) is incorrect ?

(1) UDHR was declared in year 1948.

(2} Includes group rights in UDHR.

(3} UN General Assembly adopted it in year 1948.

(4) Includes civil and Political Rights in Articles No. 3 to 21 of UDHR.

L

97. ST =ear=Al <RHifayds YFets! sod faum gwta o ?
(1) =i FrEwe 7% qui STE.

(2) e e 8% e
(
(

L

3) =t frae smE enfor gran aftwehen wgEad O
4) —rEEr fras = Ea TR g @i TEEEre S e € A

Which one of the following statement about Judges of International Court of Justice (IC])
is incorrect ?

(1) The judges have term of nine years.
(2) Judges may be reelected.
(3) Judges are elected jointly by the General Assembly and the Security Council.

{4) Judges are chosen on the basis of their qualifications not on the basis of nationality.

98, TI@NI 9 ¥ s WA ol WUIRT g fa ot whifas ey auteT fax 9.
(1) =& (2) HTTH (3) T (4)
Europe day held on 9'f May every year is the anniversary of the historical
declaration.
(1) Bacon's (2) Copenhagen (3) Schuman (4) Warsaw
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99. YEIEd! FIUH Wl A Wy Wee ATéd ?
(a) €& | (b) e
() 33 (d) =
) TE () T
aidt I :
1 @ ® (2 (@ 3 (@) @) (. ()
- Which of the following organisations are not regional organisation ?
() SAARC (b) ASEAN
(cy EU (d) OPEC
{e) AU _ (i Commonwealth
Answer options : .
M @ @ @ @ @) (@ ® @ @ ©

100. WH Wig Wieral FrwATaa fem U 12 ardrEn it forgaen faken, o1
(a) < GO el U T qHE 4R S
(b) I WS Y8 SRS Aed < Uste ferdiared.
(c) T HAuw Fedsw e, faame gedia onf 3ad wale st S
(d) FerEn It = e s Far feee e,

Sltete B fage 7 e ?

(1) %« (c) (2) B (a)

(3) wH(d) (4) =& we faym g s

Through an adult literacy programme a group of women was able to read and write.
Now they may :

(a) Create a new norm of privacy.

(b) Create private time when they can write diaries.

{c) Be more imaginative and engage in reflection and emotional expression.
(d) Begin to renegotiate valies and their own roles.

Which of the above staternents are true ?

(1) Only (9 @ Only(@ |
(3) Only (d) (4) All the above statements are true
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101. WWW@WWWWW@WW%WWW?
(1) whi Faes &S e dusht yias e,
(2) HHAEET qHRl WhRuI[ IO AR
(3) SENSS Wa:d qUE HHAR .
(4) IRTTRS Herd {1 fadel wehrlidt Wigk e A

Which of the following statement related with complaints to National Human Rights
Commission (NHRC) is correct 7

(1) Complaints should be in Hindi or English language only.
(2) Complaints cannot be received through phone calls.

(3) NHRC does not have its own investigating staff.
(

4) Complaints against Armed forces are entertained by NHRC.

102. YRR FIore Seonds wit afusdi € Aet sifusr s’ € =mun el ang ?

(1) &G SO (2)  Sfsm s
(3)  ff=e ST (4) Qe oo
Which one of the following declaration has declared ‘women’s rights are human rights’ ?
(1} Tehran declaration (2) Beiing declaration
(3) Geneva declaration (4) Washington declaration
103, T foem fdwis @ owa fasmrn yq@ afEm g Frenieiay smnfa
e,
1) =R (2) W= () W= (4) &
The Human Development Index is based on indices which measure key

dimensions of human development.

(1) four (2) three (3) five (4) six
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104. THATUSHR VT i< TR A= R GfauFrie Eiadsl SR hos Geied e 2

(a) FoW F. 14 (b) FoH F. 17 () H . 21
d) FEEFH 2 () TEH F. 226

it I

1) (@, ®) (o) 2)  (a). (b), (c), (d). (e)

(3) ®) (. (4) (a), (b), (d) (e)

Which one of the following articles of Indian Constitution are related with Human Rights
and their protection ?

(a) Article 14 (b) Article 17 (c) Article 21
(d) Article 32 (e) Article 226

Answer options :

(1) (@), () () (2) (@) () () (d) (&)

3 ®) () (@ 4) (), (b), (d) (e)

105. A HfawE GEiots! SR faum s o ?
(1) FUIm TSR Widdd = SvarE] 3946 i go=n merggHal e,
Q) T AR T SiEE T G S SN S 7Y TN WY R WA et AR,
(3) TY 2012 A1 Ao Widdl YUERRA GG A 37 378,
(4) 1993 T At afeds qiEee (EEC) = AW && 3.9, ifeded anal.

Which one of the following statement about European Union (EU) is incorrect ?
(1) EU was created after WW 11 to faster political peace in Europe.
(2) EU began as economic union and has entered into political union.

(3) In 2012 EU was awarded with Noble Peace Prize.

(4) EU came into existence after renaming European Economic Council (EEC) in year

1993,
106. 3 01 T TR Tgad el A HeH ¥ TV WhRe 1o,
(1) 1945 (2) 1991 (3) 1992 4) 1993

Czech and Slovak republics were admitted to the United Nations as member states in

(1) 1945 () 1991 (3) 1992 (4) 1993
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107. g TLTET e Ui qEieisl I w1 A ?
(1) ST Ty o= Hiorearel Ricer! o1 S a9 T,
2) 3RnNE (SUfaeg) AR Fal H0.
(3) TEH HeET= WigdrEe! Ierd S

@) g UeEEd faiEwT A G99y SEvardisl e HO H0, qerEEl Hl.

Which of the following is not the function of the Security Council of the United Nation ?
(1) To investigate any dispute or situation which might lead to International friction.
(2) To take military action against the aggressor.

(3) To recommend admission of new member.

(4) To negotiate agreements with the specialised agencies defining their relations with
UN.

108. TEAYRT HU TV ¥ S (OPEC) 1 Hoe i UeH 374 ?

(a) IR (b) AR

(€ =g (d) =

(e) wafaa @ serfm
ot 39

1) (@), (b)), (d), (), () (2) (@), () () (). @

3 (a) (o) (@), (e), (f) 4) (@), (D), (), )
Which of the following countries are members of OPEC ?

(a) Algeria (b) Nigeria
(c) Venezuela (d) Iran
(e) Malaysia (f) Indonesia

Answer options :

1) (&), ®) ©), (@), (e), O (2) (@), (), (@ (d) O

3) (@) (). @) (e) ) 4) (@) (d), (e) B
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109. WWWW&W&WW@WMWWWWW
q HEBY TG IV 31T 7

(a) qagq™

(b) DFETA FW

() TR

(d) Fav ot oy
) T=ays fadsdt oy 3
() TS IqEET
(g) OFHAT STHAIA

it 39T
(1) (@), (b) (c), (d). (e}, (). () (2) (@) (b), (o) (), (&), (B
3) (@) (b}, (), (@) (B “(4) .(a), (b}, (d), (e). (B). (g)

Chairman and members of NHRC have been appointed by President on the basis of
recommendation of a council comprising of :

(@) PM

(b} Speaker of Lok Sabha

() Home Minister

{d) Leader of opposition of Lok Sabha
{e) Leader of opposition of Rajya Sabha
(f)  Deputy Chairman of Rajya Sabha
{g) Deputy Speaker of Lok Sabha

Answer options :

1) (@) b)) ( (). & (&) (2} (@) (b), (e}, (d), (e). (B}
3) (@ (®), (o). (d) (O 4)  (a), (), @), () () (8)
110. §gF TLHERT faenilea Ayl 9@ weFY sl
(@) 7.y (b) FEUSI () FAEA (d) T=BTA. A
it S o
1) (@), (k) () (@ (2) @ () () ()
(3) () @ © @ 4 ®), (9 4 @
Chronologically arrange the specialised agencies of UNO in ascending order :
(@) UPU by ILO (c) UNESCO (d). WHO

Answer options :

1) @, () (© @) 2 @ (9 (b) @
(3 ®) @ © @ 4) () (<} (d) (@)
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111. €5 U AHENT 9] 1 gear AfyawEme 10 fedw, 1948 Vs vt
Tl SR 9O 30 3. 217 A(lL) 990 F& WHReT.
(1) 183 @) 186 3) 173 (4) 153
The resolution 217 A(lll) about Universal Declaration of Human Rights was adopted by
the UN General Assembly in its ___ plenary meeting on 10 December, 1948.
(1) 183rd (2) 186t @) 173w © (@) 153d

112, WRAT=A] Hees fahm Séefen dmdmel wd 3= aegi= St
(1) 8,21, 60 (2) 811,18 3) 8, 12,35 (4) 8, 18,53
India’s Millennium Development Goals Framework includes all goals

targets and related indicators.

(1) 8,21, 60 (2) 811,18 (3) 8,12, 35 (4) 8,18,53

113. Jehare GO Tieeds! HI FEHEAE 86 Tl TR ?

(1) wfTaaEel S@d9w 2) ¥

@) sufgEmA (4) W= o

Recently Afghanistan has become member of which of the following organisation ?
(1) NAM (2) SAARC

{3) ASEAN (4) Arab League

114. EIAUS! &G St HIRT 3R 2

e A TR
(1) STRUL ST HeeAl ElREH
(2) Taea sifss dugr daen ElECy
(3) fava g Hee ElEE
(@) SO grEew 95 WY e
Which one of the following pair is incorrectly matched ?

Name of Agency Headquarter

(1) Intermational Labour Organisation (ILO) Geneva
(2) World Intellectual Property Organisation (WIPO) Geneva
(3) World Health Organisation (WHQO) Geneva
(4) International Telephone Union (ITU) Geneva
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115. Gk ST FEREtEl 8 FO 3d ?

(a) ¥ (b) A

(© @t @) wwmo |

(e) Tamm (f) SO A

(g) =

It 39

(1) (@), (b), (o), (d), (e), (). {g) (2} (), (b) () (o). (8)

@) (@), (), (e), ). (8) (4)  (a) (). (o) (g)

What are the areas of cooperation between SAARC countries ?

{a) Agriculture , (b) Tourism

(c) Energy (d} Defence

(e) Education (ff Missile Technology

(g) Trade

Answer options :

1) (@), ®) (), (d) (e), (O (g) 2)  (a), (b), (c), (e). (g)

(3) (@ (b)) @), (&) 4 (@) {9 (o) (g
116. WA fohar S=ISTET ey 21 Tl T SheaT=a1 STRIY STHHT SfHdet ST HId

TS w0 wh, 46 TSI arsial Sl st Hogrel IHR 3 3N g Ol &1 Safaqer

HgH FRTIYA S 3{S adl.

(1) g g faum

(2) ISR dfshar Higd

(3) HrE BEE T HEE], 1993
(4) <EUdERE Gidsus e, 2002 -

Section 46 of the authorises the police to use reasonable force, even extending
up to the causing of death, while arresting a person accused of an offence punishable
with death or imprisonment for life.

(1) Indian Penal Code

(2) Criminal Procedure Code

(3) Protection of Human Rights Act, 1993
(4) Prevention of Terrorism Act, 2002
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117. 3nfern Sfafrs anfds W™ g9 99 1994 9 SR 49 Ued THe SN 4T amasn
Hyzo fawmme) +8 ol fifvea ¥, a1 o ' 9mr S’ Eudk. SR e, 9y @

e eSSt e, Wed e
(1) 93 TEHIH 2) faei
(3) seHfem 4 UE

Leaders of the Asia Pacific Economic Cooperation gathered in Bogor in 1994 and set some
targets for the development of their organisation. These targets are known as * Bogor
Goals’. The Bogor city where these targets were set is located in

(1) Brunei Darussalam (2) Chile
(3) Indonesia (4) Peru

118. 2005 =1 WRMfaF INGSAE HIFa ULEH=a1 HHa AYSHR - <mn CELE
YT AR,

(1) EIF ULEEE! 9Ea AfusR e

2) GIF TeHEE T AfYHR Had AT AT
(3) UgF TLTHE ARd AfRRIfaed=T il

(@) e SAfUHREE ISR FEe

UN Commission on Human Rights has been replaced by ‘body in 2005 world
sumumnit,

(1)  UN Human Rights Council
(2) International Commission of UN on Human Rights
(3) Agreement of UN on Human Rights

{(4) Oftice of High Commissioner on Human Rights
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119, €95 TLHO= §9esd o8 %. 1 99 d9 R AW e 3R, ot 3™y
K gt HIo@ g F .

(L)
(2)
)
(4)

HIGUS wradn o gean femaul.
(eerregiaed il Way faenfia .

T 3T IEEs e HIUGTEET WIS Flar Hes WEu HF S0,
e Thesad,

The purpose of UN as laid down in Article 1 of the UN Charter are as follows. Find out
incorrect purpose :

ey
(2)
(3)

(4)

To maintain international peace and security.
To develop friendly relations among nations.

To be a centre for harmonising the actions of nations in the attainment of these
common ends.

To achieve international cooperation in solving international problems of an
economic, social, cultural, political character.

120. T UHATYER SRS SErday TR won fSue @ g ?

4y
(2)

(3)

(4)

SR & =1 YRR <Iw3l % I,

o TSEIT FFE=N Tl T IR Ao HEl Heied] M Tan @ A F&
BET I

T g Tafaa @i T T SR HauETelia S IoRams! gEn a1 Sea
T T3 Il

AN gHEHHTIEEE] R F a0 AU WY Al Ay §&7 =1 FiE]
HuAEAuiESt FrmREh .

Which one of the following statement related with functions of National Human Rights
Comumission {(NHRC) is incorrect ?

1
(2)

(3)
(4)

It can inquire on its own mnitiative.

It can inquire on a petition presented to it by any other person than victim on behalf
of victm.

It can visit any jail or any other institute under the control of state government with
written permission.

[t studies treaties and other international instruments on Human Rights and make
recommendation for their effective implementation.
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121, JEETht FIOR fauE T TR ?

(a) U Rufirw YT (1986) =Y, 64 11 I8 FAFTI | Sfera Fenia! Figu S0 qdd
11 14 TR 75 o Jendl QU Ul g 38,

(b) V. ATETHRS SASH TN SFTIRAT 24 Wergi-Fraw e e oage.

qaiEr I

1) (2 B : 2) (b) ®H

(3) A (a) 3 (b) @) (a) 30T (b) A TS SR

Which of the following statement is wrong ?

(a) National Policy on Education (1986) is aimed at universal enrolment of all Dalit
Children in the age group of 6 - 11 and 75% enrolment in the age group 11 - 14.

(b} Dr. Babasaheb Ambedkar prescribed 24 vows to his followers.
Answer options : ,

(1) (a) only () (o) only

(3) Both (a) and (b) (4) Both (a) and (b} are right

122. W T dfd Smad Teeaw! o) e SR 2
(a) o7 Fefisean g
(b) Taaror anfor Frerama sARew
(c) IO AR Te[US 3 SRR QS
(d) IGTTRTEET Y& e

Wfﬁf?‘?f'{:
(1) (a) SO (b) Fert (2) (o) = (d) F=a
3) (a), (o) 3 (c) (4) ¥ (a), (b), (c) =TV (d)

Which of the following are schemes for the socially deprived class ?
(a) Providing food security

(b) Reservaton in education and jobs

(c) Augmenting income of rural landless labour

(d) Safety net for old age

Answer options :

(1) () and (b) only @ (9 and (d) only

() (@) (b) and () (4) Al ), (b), (c) and (d)
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123. SISl o
(a) T U 3fem (i) B0 IHEID IS IR T Fiss
e asw
b) T F e () GG A T Al
(c) TgEA (iii) 60 TWAte T FRIYR 25 =F=RiTaR
e
&) FEme i F (iv) W&l FvsTgl, T WIS 60 e
3rfieh A=A 50 AR TEIS
atEr S9N
(@ (b) (9 (d)
1 @ @ @ )
2 O W @v) @
@Gy v @ @ @
@ W ) @
Match the following :
(a) Help Age India (i)  Celebrates Elder Day to honour senior
citizens (80+)
(b) Age Care India (i) ‘Adopt a Granny’ Scheme to provide
rehabilitation
(c} Old Age Homes (1ii) Residential unit for 25 poor destitute
persons above 60
(d) Day Care centres for the aged people (iv) For 50 persons above 60 in urban slum,
rural areas
Answer options : |
@ G ( (@
1) (@) @ @ )
@ @ @ @) (i)
@y ) @ @@ (i)
4 (@ @) @ @
124, 2011 =0 SHVHTER fHeraor e (fowai) Serat e Srse o ae ?
(1) 18 <zoW (2) 219 <39 (3) 26.8 <3N (4) 40.0 <Fe™
As per the Census of 2011, the differently abled population is estimated to be :
(1) 18 million (2) 21.9 million (3) 26.8 million (4) 40.0 million
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125, fig < faum a diesit Frer=n Fo9 20 Sl Toets B faur svE T ?
(a) ﬁwmwaﬁ—a&aﬁwﬁwwmm.
(b) IS TS WGV FIOAH HERY FA S-S [OF Nl 7] Aehaw.
() Ea:d go THIN, §9F AR g, ad Jord Qe "e) 9.

qIigt 397
(1) K (o) (2) (b) 30 ()
(3) (a) 300 (b) (4) wd faym T oA

As per sec. 20 of Hindu Adoption and Maintenance Act which of the following statements
is not correct ?

(a) Hindu male is responsible for the maintenance of aged parents.

(b) Aged parents who are unable to take care of themselves can ask their son for
maintenance.

(c) - Stepmother, not having her own children, can also demand maintenance from her

stepson,
Answer options :
(1) () only (2 () and (9
(3) (a)and (b) (4) All statements are correct

126. IEterteht argen faume Siow 2
(a) fowdiion S FE @ St e TewaE o 9 A,

(b) ToRTiTI=T HETTG BlESEET e TG FHT0) 0 Hresell Areehi-1 Hiewor 0, @ 9

Tere g AR Aftee Tredi=an disHr 3R,
Tatdt 39T :
(1) S (a) (2) HH(b)
(3) (a) 37T (b) (4) << faym gE omRd

Which of the following statements is correct ?

(@) Individuality is not considered important while working in the field of differently
abled.

(b) Establishing organisations for institutional care of differently abled and training the
care givers, are the two schemes of National Trust on Cerebral Palsy.

Answer options :

(1)  (a) only (2) (bjonly
(3) (a) and (b) {4) Both statements are wrong
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127. e R/ R R wveT ) TR ?
() ‘IHET GIR’ AT WY SR,
() odfew Sfem =1 @ fired), €9 fausdine fawnfua S, 3R 3 SRl Hara,
qAlhTeE TR STHURT, YIRS Fdl T,
(c) ‘Tusl I’ & ATl UH WhR IR,
it 3o : _
(1) (b) 3ufu (o) 2) (a) 3 (b) (3) (a) 3 () 4) (o) wx
Which of the following statement/s is/are correct ?

(a) ’‘Narmada Sagar’, is located in M.P.

(b) Restoration of material lives is the only immediate remedial measure, needed by
those who are displaced due to disaster, than anything else.

{c) ’Slow disaster’, is a type of disaster.

Answer options :

(1) (b) and () (2) (a) and (b) (3) (@ and(q) (4) () only

128. TEIUs! Hv foue a0 o ?
(a) e ARG T ¥R 1998 WA TR FOAR S T 1999 T WA Fot o,
(b) ‘i e Tl TR, gXal 16 S[EE |eiy FHedrd Al

vt 3%
(1) X (a) (2) A (b)
(3) = (a) 3N (b) @) (a) S¥fOT (b) AT FoER G

Which of the following statements is correct ?

(a) National Policy for older persons was formulated in 1998 and was adopted in 1999.
() ‘World Elderly Citizens Day’ is celebrated on 16" June every year.

Answer options :

(1) Only (a) (2) Only (b) -

(3) Both (a) and (b) (4) None of (a) and (b)

oAl HIHTAS! AT /SPACE FOR ROUGH WORK
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129, MRATES TS g dfad aEe! HeaIwi de-1 TIOGUsh! HIvRET HTed ?
(a) hgel SRR AN
(b) SGERTES ST Sdren FEAT! SR
(c) IR difead (3, <R 9 37, Fd) 3nfois wa
(d) - TER HS |IE HIOTEAE YA

TarEr I - .
(1) K (a) (@ E (b) 30 ()
(3) K (a), (b) IO () (4) ¥ (a), (b), () 3T (d)

Which of the following are welfare schemes for the socially deprived class in India ?
(a) Nucleus Budget Schemes A

(b) Schemes for self employment for BPL scheduled caste families

(c) Financial assistance to SC and ST victims of atrocities

(d) Rehabilitation of manual scavengers

Answer options :

(1) (a) only (2 () and () only

(3 (a) (®) and (c) only (4) Al (a), (b), (0) and (d)

130. qEretet v faum,/ faum staw ame/a?
(a) TRNIEHIT UHE RN qoisdl MEuEe! MEAaE gfsow Ted, T &t ot
ST

(b) W@ﬁﬁmmmaﬁw@w YT FOTTRI=E Joi1, MEHgH Higeh ga
gt et I, SISt IETH1 ST wafer e

it I+ ;
(1) (a) B (2) (b) ®Fd
(3) (a) 3T (b) (@) R (a) 30T (b) faum =& oRa

Which of the following statement/s is/are correct ?

(a) Public schools are established for the education of the children of sanitation workers
in Maharashtra by the Government.

(b) Children of sanitary workers, workers engaged in tanning profession, belonging to
any caste and religion are given pre-matric scholarship, without any limit of income.

Answer options :
(1) (a) only (2)  (b) only
(3) (a)and (b) (4) Both (a) and (b) are incorrect

HoedT HATAG A /SPACE FOR ROUGH WORK
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HTWEHG g0 g fafim Tacramsl ariets) sy sftova aa?
(a) iawra Fm s i s

(b) o EEIRS SO/ G q0 T @,

() IS q9lie IARA &,

(d) Eeem aufor wfeet=n w9 S,

It 39N
(1) (a) 3f (d) Fer 2) (b) A () e
3) (a), (b) @ () 4) &4 (@), (b), (o) ¥ (d)

International Labour Organisation’s diverse tasks include which of the following ?
(a) Setting international labour standards.

(b} Elimination of all forms of forced /compulsory labour.

(c) Abolition of child labour.

(d) Research and dissemination of information.

Answer options :

(1) (2) and (d) only (2) (b)and (0) only

(3) (a), (b) and (c) (4) All(a), (), (0 and (d)

132,

&I IS R SEUW, F{EiEd ol 9 A w9e S fHeuael @t S
gfad o, iR AfUsin § W dHeY HE ?
(a) WY €& HIUT), 1955

(b)y W TR wEE, 1927

(c) @ (¥F€) FIT, 1980

(d) FHEER ¥t fU=wR He wHEl, 1987

it 3T

1) ¥ (@), (), (c) M (d)

(2) (d) =T |d

(3)  (c) ST (d) =TT

(4) O (a)

Which of the following legislation contains rights and safeguards for SC and ST, to take
care of equal opportunities for them ?

(a) Protection of Civil Rights Act, 1955

(b) Indian Forest Act, 1927

(c) Forest (Conservation) Act, 1980

(d) Legal Services Authorities Act, 1987

Answer options :

(1) all (a), (b), (c) and (d)

(2) all except (d)

(3) all except (c) and (d)

(4) only (a)

Hodl HNADS ART /SPACE FOR ROUGH WORK
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133. Tt/ HEHH S0 ST Tt Fisar siedl 9l

(a) Tawen safd=ar yHeam dw wiead 0 () R, W, Wty

(b) FTULT TR GO HHHH, TGS (i) TALAT, T Y TH.

Feeproa Wredre S0t
(¢) WeEEiE gAaeA (i) oE<I® TREIE ¥, oA,
A
(@ g FAW STarE/Fagt o (iv) sferei, fcs
ot Iy :

@@ ® (9 (@

1) Gv) () @ @

@ @ G @

@) @ @ ) @

@ @ v @ @)

Match the activity/programme and the international agency :

{a) Seed Funds for projects of disabled (i) Mukti, Chennai (T.N.)

(b)- Promoting international adoption of policies (i) CBR, Texas U.S.
programmes and design

{¢) Community based Rehabilitation {(iii) Adaptive Environment
Centre, Boston, U.S.

(d) Provide free artificial limbs/calipers , {iv) IBLIS, Finland
Answer options :
(@ (b)) (9 (d)
1y Gv) () @ ()
@ O @ @@ @)
(3} Guy @ v (i)
4 @ G @ (@)
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134. TEIAUS! HErs 9 o ?
(a) ' AEEes frget da A’ aﬁﬁﬁ@ﬁawmmwmaﬁaﬂﬁﬁa
HGIEN T 12,000 ¥ S S W AW

(b) ‘WIS FEIFH QAT R 37 QU0 S 3R,

(c) JNiaWd g I, 1998 Gl T8 agmSt wwe o fawarag W=t sl
T F T

(1) (@) * () (2) HH (b)

(3) ¥ (a), (b) 30 (q) (4) (), (b) 3T () JahT B e
Which of the following statements is incorrect ?

(a) Aged above the age of 60 years, having name in a family below poverty line is given
a grant of T 12,000 per year under, ‘Shravan Bal Pension Scheme’.

(b) “Matoshree Old Age Home Scheme’, in Maharashtra state is fully granted today.

(c) ‘International Year for the Older Persons’, was celebrated in 1998 with the theme of
society for all ages.

Answer options :
(1) (a) and (c) | @) () only
(3} All (a), (b) and () (4) None of (a), (b) and ()

135. TGS FIUR/d fFaE/ favm g SR/ ?
(a) Taehrargss Srom fomerern gaRomy YAt 40 - 50% 3MfEeTE SeHiat Fe e,
(b) HW, T, @ I W e W Hiem {awe v 1990 iR 85 wraman

Ay Aifgarst faeenia e,
gt I
(1) (a) ¥ W (b) T 3R 2) (b) T W (a) W M

(3)  (a) 3N (b) A Wer AR (4) (a) = (b) R W T
Which of the following statements is/are true ?
(@) The development induced displacement affects 40 - 50% of Tribal people in India.

{b) Over85lakh tribal people were displaced until 1990 on account of mega development
projects like dams, mining, industry and conservation of forests.

Answer options :
(1) (a) is true (b) is false (2} (b)is true (a) is false
(3) Both (a) and (b) are true (4) Both (a) and (b) are false
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136, SISEl THAE WU TH6 A0 At 3tferrgw, YEwA o1t qREded A qneyida (GERn
fadae 2015) EOGIH! FAR TWE W 7

(a)

®)

(©

wIfwR Y&t siftnrew 99 gea o faeama snaryien FrasomaEet gl Bae aifest.

N TS FHIFIH Fo HORE! TR @0 hivei Ui dedsa sew
197 JER AT, . '

e FEaIS T TR FFRE AR Q0.

it 3y :

(1)
(2)
)

(4)

e (a)
% (b)
T (<)

¥ (a), (b) M ()

The Right to fair compensation and Transparency in Land Acquisition, R and R

(@)

(b)

(©)

{Amendment Bill, 2015) provides for which of the following ?

The Authority shall hold the hearing in the District where land acquisition takes
place for settlement of objections.

The court to take cognizance of any offence committed by Government employee as
per sec. 197 of CPC. .

Compulsory employment to atleast one member of affected families.

Answer options :

(1)
2
3)
4)

{a) only
(b) only
{c) only

All (a), (b) and (c)
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137, AT <A T WA AATIER] JSSTHd hrhATR! Sdagrard g Tada Feret
T o SRS Tsfae S - '

(a) JiEE! A Save F2
(b) TE1AT

© Tew dufwa Jeana s
(d) dIgEE FEie da

qIigr 39
(1) (a) v - (2) (b))
@) (o ®H 4) ¥ (a), (b), (c) Wl (d)

Ministry of Social Justice and Empowerment implements a scheme of assistance for
programmes relating to the aged for voluntary organisations for establishing and
maintaining :

(a) Day Care Centres for Aged

(b) Old Age Homes

(c) Mobile Medicare Unit

(d) Non-institutional Services for the Aged

Answer options :

(1) @) only (2) (b) only

(3) () only (@) Al (), (), () and (d)

138. famein Sraiadt T YTe WSS HIME FH T e TR ?
(a) Toweima wfaEy
(b) I AN
(c) T it Ha U@ A Fedl YA fai &
(d) wErEAF Qe Y

it I
(1) T (a) A (b) (2) W (a), (b) S (d)
(3) T (b) U (d) 4 wd (), (b), (c) M (d)

National Policy for persons with Disabilities has focus on which of the following ?
(@) Prevention of disabilittes '

{b) Rehabilitation measures

(c) Expanston of coverage in rural and unserved areas

(d) Providing assistive devices

Answer options :

(1) (a)and (b) only @ (),

(3)  (b) and (d) only 4) Al (a), (b), () and (d)

HeAT HIATETS SN /SPACE FOR ROUGH WORK
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139. TR HIV HIFenal fawaimyt d6y 278 ?
(a) S TR PR AAHIR A vdH g2y sffeqn, Wiwa Tied, Hea ferswm sfve nfveaw
feuaifactsl a3, 1999.
(b) TeETacheem Hifqe % sfean afwe, 1992.
(c) Ted Ty 3=, 1987.
(d) fomer afdg it afae, 1987,

i I :
1) (=2) 3nfor(d) 2) (@), (b) 3 (c)
38) ®H (d) 4) T (a), (b), (c) 3N (d)

Which of the following Acts is concerned with disabled ?

{a) National Trust for Welfare of Persons with Autism, Cerebral Palsy, Mental
Retardation and Multiple Disabilities Act, 1999.

(b) Rehabilitation Council of India Act, 1992.

(c) Mental Health Act, 1987.

(d) Legal Services Authorities Act, 1987.

Answer options :

(1) (@) and (d) 2 (@) () and (©)

(3) (d)only (4) Al (a), (b), (c) and (d)

140, 3ufEarHi-1 Trfes @14 um=a1 Wiiterdeht HIvEr D1 3T ?
(@) dFRT A AR TR
(b) TRYUT YR gE
() Feardt gesdr snfin dan fae fa .
(d) smafaas fafsr

Wﬁ'?ﬂi’:
1) (a), (b) 3 (a) 2) T ()
@) (o) 3 (b) @)  (b), (c) 30T (d))

Which of the following Group Beneficiary Schemes are for the tribals ?
(a} Tractor Ploughing Scheme

(b) Repair of Traditional Youth Dormitories

(c) Repair of Huts and Services Development B.C.

(d) Diagnostic Camps

Answer options :

(1) (), () and (d) (2) Only (0

() {c)and (b) @) () (© and (@
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141. 95 FHSSHHIAT T 1500 - T 2100 T H HAYA J0qrAT A-EIET HI0ER T 37 38 2
(a) S50 AW + A A T 24000 vHd
(b) 60 TH + I AR T 20000 wHd
() OFHTHR AMET WESS FI7T YR HETI.
Tqidt I
1) () @ () @ @eME @ )
What is the eligibility condition for getting honourarium under a scheme granting
T 1500 - ¥ 2100°p.m. to folk artists ?
(a) Age 50 years + and annual income upto ¥ 24000
(b) Age 60 years + and annual income upto ¥ 20000
(c) Folk artist shall hold BPL Card

Answer options :

(1) Only (a) (2)  Only (b) (3) (2)and (q) (4) (b)and (c)

142. fawoim=n TNdH@e, JE@R! RV SITE, ARG SR VA g8 §ay SR ?
(a) fowreimaE samafgs arieH a v
(b) ARSI Fw=a1/HW e W
() Towems sl gFeEad
(d) fawom=l QTS G

Wi'ﬁﬁi’: 7
(1) (a), (b), (c) 3 (d) Yt FORE @ (2) (a), (b), () BTV (d) Warel
(3) (a), (b) & () @ (a) (o) (@)

International Labour Organisation is also concerned with; which of the following aspects
related to handicapped ? :

(a) Vocational guidance and training for handicapped

(b) Placement of handicapped

() Vocational rehabilitation of handicapped

(d) Social security of handicapped

Answer options : .

(1) Noneof (a), b), ()and (d)  (2) Al @), (), () and (d)
(3) (a), () and (9 @ (2, () and ()
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143, TEENET SR faum sde T2
(a) TEUTSA e, STHHMER IR GG feaiean FHToet THRearl S AR,
(b) I FENESHE UL 4RO 1981 Hielt = .
(c) S FMETNE, fRAH o FEE, 1948, 9 HOEY T

"Rlﬁﬂ?.?-ﬁ':
(1) (a) 30U () 2) W (a), (b) M ()
(3)  (a) 30f¥ (b) - (4) (o) 3 ()

Which of the following statements is not correct ?

(a) Percentage of women in unorganised labour sector is high as compared to men.
(b) National policy on child labour was formulated in 1981.

(¢} Domestic workers are included in ‘Minimum Wages Act, 1948.

Answer options :

(1) (a) and (c) (2) Al (a), (b) and (c)
(3) (a)and (b) 4) (b) and (c)

144, TISTET TR g9k 301 T Srfiew, gAEES onftn JHeETed ard TRGRishal A4, 2013,
YT BTk W Hodihe hitd STHa Wieledst HIna faan w3 o fdy 3 ?
(a) HIfad FZAE IISTIHI
(b)) TR PSR THE B =

() YESer™ E

(d) T/ Reaforeh ghawn

(e) T TS

() amfGaTHien TS Feorast st

It B?ﬁ' :

(1) (@) (b) 37 () e (2)  (d) T () FH

() () MW (f) W @ (@), () (), () s (§)

The Rights to fair compensation and Transparency in Land Acquisition and Rehabilitation
and Resettlement Act, 2013 guides the Government to take into consideration which of
the following while undertaking social impact assessment ?

(a) livelihood of affected families

(b) rearrangement of electoral units in the area

(c) sources of drinking water

(d) school/educational facilities

(e) places of worship

(f)  land for traditional tribal institutions

Answer options :

(1) (a), (b) and (c) only ()  (d)and (€) only

(3) (e) and (§ only @ (@) (), (@, (¢) and (§
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145. mamﬁmmmw,mﬁwm?

(1) wEMTE (b) ST

(c) TERIST (d) T A

a3

1w () @ (o ¥ ()

3 () M () (@ e e s

Which of the following projects of Women and Child Development Department are
non-residential projects ?

(a) Protecion Home | (b) Adhar Gruha;
(c) Swadhar Project (d) Step Project
Answer options :

(1) Only (d) (2) (9 and (d)

(3) (b), (c) and (d) (4) Al are residential projects

146. oo w9, T=a R e T SRM 1 fKTisM aRaRu SEaoe A8« feisnmaed
@ i qrEe F 9O T, BES F&7 HUR ARl

(1) o afear=n (2) W HEAEA (3) @a&fam (4) <R auE

The District Forum, the State Commission or National Commission shall not admit a

complaint unless it is filed within : from the date on which the cause of action
arisen.
(1) Three months {2) Six months (3) One year {4) Two years
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147, 9 A fraiden sreitas fhay wa:=a o feer HaeHR yefee woa frale wream

=1 TSR AT fEadTE STavEw ST Teiad o1 foce Hamns Fiada
EX e -

(1) wuH (2) 3ifam

(3) I @) Todm

On the application of the complainant or of its own motion, the state commission may at
of the proceedings transfer any complaint pending before the District Forum
to another District Forum within the state if the interest of justice so requires.

(1} the beginning (2) theend
(3) any stage , (4) 2 stage

148. foog d9 HYa T RN T9FS TG0 o0 ahK, T2 e fo= fHar aramees
e T T8 TG FHi Hige wetH! ashi fautsa wae snftn ahr Trae fovg Ia
YeTT S AR A WhH 3181 FOETeR ghH el

(1) UE R E (2) 33 TR &9
(3) T TR (4) 9 TR T

Where a complaint instituted before the District Forum, the state commission, or as the
case may be, the National Commission is found to be Frivolous or vexatious, To shall, for
reasons to be recorded in writing, dismiss the complaint and make an order that the
complainant shall pay the opposite party such case, not exceeding , as may
be specified in the order.

(1)  Five thousand rupees (2) Eight thousand rupees

(3) Ten thousand rupees {4) Seven thousand rupees

149. TeH weww ifufram, 1986 <A1 Sidia WIGtS! SIvR Fwun g T 20 FEvdd e fhar da=h
fihma snfor oo <@ Hioy Tehd ?
(1) TE[E aEm @) faeerda
(3) T @M (4) T HED

Which of the following agency under Consumer Protection Act, 1986 can entertain a
claim not exceeding ¥ 20 Lakhs of the value of goods or services and compensation ?

(1) National Commission (2) District Forum

(3) State Commission (4) State Council
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150. Y&te faumisl Hiowdt sRraT ommed ?
(a) e dar=n Rnfass To9 SRS 7iie Hivarl soEHd 30 feaw k.

(b) R FEEU IR AT TES T FIE JE SR SR A = W ST FHEA
7o e W, 30 feaur=n womdsn aeHe § o oA sde ewd fEww

WHS.
it I
() % () (2) T (b)
(3) 3 (a)  (b) AR T (4) PR TR T

Which of the following statements are correct ?
(a) Limitation for appeal on the order of District Forum to State Commission is 30 days.

The State Commission may entertain an appeal even after the expiry of the said .
y PP piry
period of 30 days if it is satisfied that there was sufficient cause for delay.

Answer options :

(1)  (2) Only (2) {b) Only
(3) Both (a) and (b) are correct (4) None is correct
-o0o0-
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Tl — (Y= 1 967 9...)

©) ey fafea Foem faftre sl =2 W (W 5%) FmE. wayfasetaie soufea @
TR FOCE F M Hoad 9 HU FOGren I FO 3N, I8 TAS TES I FITUR SHEHU
wEAE SR Fee ¢ iteined gorm ftvewri fasy sRraEEes ffram-g2" adie WEETEN FEE
FOAN A0 9 SNI HH SIS T aui FRErr Jifty/ R $93 U T9R aen sera ey
A S

©) et wrulpaE oErm fafi w9 32 TuemHal SREaer € TRYfGeh W TS et
U WOOE [WaA R, WA THSTE R STEret SUMmgEt SUCar SuedT i M- 1
WHAETRTHS 1 faowar qw T 3navges N

. sh. 201

AT O
201, WA WS TR FUAEET R0 g a9 o ?
(1) @ TgEe A (2 {TeREQ e
@) TN qHET 1 (@) THUISES TES

T YT A0g SR (3) TN qHEEd UG’ o TR, R A W IOV (3)" de. anad

. ERACHHT T %, 201 TERS SW-wA ()" 7 gz T BaifEhd HE qraf st

.
ORON N6
3T YA YEJd TTAIHdie YeF WYl gud SOGhEie 8 QR Waaien giaoeat

THAFFALE A A FEFAFEENS FAvg a4 o0 orifsa $&1 TEae.  gnenir
Wad Hleodl VTEE SieuT qraua, 3fg® a1 wie 99 Taw 4.
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T A ;IS YT () UAeT- 0%5
forw ;. wmT= ereEEE - 11 e faie : 9§ LR, R0%%

TERTS G STTTTHTG T Wall (Fd) URIeTT-R0E,” 7 Tl RIe=T Je-TAehell STReIeTehT SHEERTeAT Hifgcenat
Rheeler. URe Y0ard el 37, WX STRANCThdlel J-IaRgae SHEARAT o hiear 3Taedrd i
STTHTON TRIER0T / e 3 WIS AT, FYd, YR AIh I Seciie eYRashl-3 TRIal o Tt add A=
ST TR AR (1, 11, 11, 1V) Wi HEER el ot fase TR &% 7ol §d ok Ushra qrehtera
RieT e o T Aed, HERTS Siwgal ST, WY, @ 9 ¢ a1 HeTell, ST el el FiTT SR, Hefd s |,
TR, HaE Yoo oR2, AT TR UIAAH TIaaTe, ATHEHIA f§. R0 HTweleR, 2088 T SANIHS W Feted HagHTee
S e SEet. TG ST e feraRTet Sefett SUTR AR, e Hua g S,

IRATteret - KEY
T I oy I
®H® | €A | GIB | €A C | €ID wE (G A | €GB | €I C | @D
1 4 4 4 4 26 3 3 1 1
2 4 2 3 4 27 2 4 4 2
3 4 4 2 4 28 1 1 4 3
4 4 4 2 4 29 4 4 2 4
5 4 4 3 1 30 4 2 1 1
6 2 4 3 4 31 3 2 3 2
7 4 4 1 4 32 4 1 4 1
8 3 1 1 1 33 4 1 4 2
9 4 4 2 2 34 1 4 4 3
10 1 3 4 2 35 3 4 2 4
1 4 3 4 3 36 2 3 4 2
12 2 4 4 4 37 4 1 4 3
13 3 4 4 4 38 1 4 4 4
14 3 4 2 3 39 4 4 1 4
15 4 4 4 4 40 4 2 4 4
16 2 3 3 1 41 3 1 1 4
17 4 2 2 4 42 4 4 2 1
18 4 2 1 4 43 3 2 3 2
19 2 4 4 3 a4 2 3 3 3
20 1 2 4 4 45 4 1 3 1
21 2 4 4 4 46 4 1 4 2
22 2 4 3 4 47 1 1 2 3
23 1 3 2 2 48 4 3 1 1
24 4 1 4 2 49 2 3 1 3
25 4 2 4 4 50 1 1 3 4

T 3TEEaT YR — 111 f&. 3 aTfaieR, Qo



T I
WHIH | 9HA | 9B |[WEC | €9D
51 3 3 3 1
52 1 2 1 3
53 3 3 3 3
54 3 3 4 1
55 1 4 4 3
56 1 4 2 3
57 1 1 3 3
58 3 3 4 2
59 2 3 3 4
60 3 3 1 3
61 3 2 3 4
62 3 3 3 1
63 3 3 1 3
64 1 1 1 3
65 3 4 3 1
66 4 4 1 4
67 3 1 3 4
68 1 3 1 4
69 1 1 4 1
70 1 1 2 3
71 4 2 4 4
72 3 2 1 2
73 2 1 3 3
74 4 3 4 1
75 1 1 1 2

AT AT IR — 111

s L
THEG | §IA | §IB | 99 C | 9D
76 2 2 4 1
77 1 3 1 2
78 3 4 3 2
79 3 4 3 4
80 1 3 1 2
81 4 2 3 1
82 2 3 4 2
83 2 4 1 3
84 2 4 4 4
85 4 1 4 3
86 2 1 1 4
87 4 2 3 3
88 3 1 2 1
89 4 1 2 1
90 1 4 2 4
91 1 4 1 3
92 3 3 3 3
93 3 3 2 1
94 1 4 2 1
95 4 2 4 1
96 2 4 1 4
97 3 3 4 3
98 3 2 3 2
99 3 2 3 3
100 4 2 2 1

f&. 3 aTfaieR, Qo
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WHI% | GHA | 9B |99 C (€D
101 4 3 4 2
102 2 4 3 4
103 2 4 1 2
104 2 2 1 2
105 1 1 2 1
106 4 1 3 2
107 4 2 2 2
108 2 4 2 3
109 2 4 2 1
110 1 3 2 4
111 1 3 3 2
112 3 1 2 1
113 2 4 4 4
114 4 3 4 4
115 2 1 1 4
116 2 3 4 3
117 3 2 2 3
118 1 2 3 3
119 4 2 2 2
120 3 2 4 2
121 2 1 1 1
122 4 3 3 1
123 1 3 3 4
124 3 2 4 3
125 4 1 1 3

TR FeTT YT — 111

s I
W% | GTA | 99B | @A C | @AD
126 2 2 4 4
127 3 4 3 4
128 1 3 1 3
129 4 1 4 2
130 3 4 1 4
131 4 1 4 4
132 1 2 2 4
133 1 4 4 2
134 3 1 1 3
135 3 1 3 1
136 4 4 4 4
137 4 4 4 1
138 4 1 4 3
139 4 3 1 4
140 1 4 3 1
141 1 4 2 1
142 2 4 4 1
143 4 4 1 4
144 4 3 2 4
145 1 4 4 2
146 4 2 4 2
147 3 3 3 4
148 3 3 3 3
149 2 3 2 3
150 3 4 3 3




